SERVICE MANUAL

DVD DIGITAL THEATER SYSTEM

TH-C4

Area suffix

J U.S.A.
f C Canada
\ \
\ \
| |
| |
| |
| |
\ |
= || | |
oD A || A \ !
= ‘ = ‘ 0‘ ’0
\ I » | '
- L o
1| il
(SP-THC4C) (SP-THCA4F) (SP-THC4S) (SP-PWC4)
s |
(XV-THCA4)
COMPACT DIGITAL o o . o
(r S 0d Digital Direct Progressive Scan
56 sreitat AL/ ~ARADIT | INIY
AUDIO/VIDEG" (SUPER VIDEO) SURROUND IV SNFIVIT & RiIVI\

Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)

TABLE OF CONTENTS

1 PRECAUTION. . .. ittt e et a e et a e e e saeaeananananns 1-3
2 SPECIFIC SERVICE INSTRUCTIONS . . .. .. it e e et i et et e e et e s a e a e 1-3
3 DISASSEMBLY ... e 1-3
I N 0 N LS 1 1-3
5 TROUBLESHOOTING .. ...ttt s i sn e ta e e e a e ta e na e nas e snaensns 1-3
COPYRIGHT © 2005 Victor Company of Japan, Limited No.MB380

2005/5



Center unit (XV-THC4)

SPECIFICATION

Audio section | Total Harmonic Distortion*1 0.02%

Digital input*2 DIGITAL IN (DBS)(OPTICAL): -21 dBm to -15 dBm(660 nm £ 30 nm)
Video section |Video System NTSC

Horizontal Resolution 500 lines

Signal-to-Noise Ratio 64 dB

Video output level

Composite: 1.0 V(p-p)/75 Q
S-video-Y: 1.0 V(p-p)/75 Q
S-video-C: 0.286 V(p-p)/75 Q
Component-Y: 1.0 V(p-p)/75 Q
Component-PB/PR: 0.7 V(p-p)/75 Q

Video input sensitivity/Impedance

(VCR IN)

Composite: 1.0 V(p-p)/75 Q
S-video-Y: 1.0 V(p-p)/75 Q
S-video-C: 0.286 V(p-p)/75 Q

Tuner section

Tuning Range

FM: 87.5 MHz to 108.0 MHz
AM: 530 kHz to 1 710 kHz

General

Power Requirements

AC 120V, 60 Hz

Power Consumption

16 W (at operation) 1.3 W (in standby mode)

Dimensions (W x H x D)

400 mm x 85 mm x 399 mm (15-3/4 inches x 3-3/8 inches x 15-3/4 inches)

Mass

4.2 kg (9.3 Ibs)

*1: This value is measured at System cord CONNECTOR for reference.
*2: Corresponding to Linear PCM, Dolby Digital, and DTS Digital Surround (with sampling frequency - 32 kHz, 44.1 kHz, 48 kHz)

Subwoofer (SP-PWC4)

Amplifier section

Front/Center/Surround

167W per channel, RMS at 3 Q at 1 kHz, with 10 % total harmonic distortion.

Subwoofer

167 W, RMS at 3 Q at 100 Hz, with 10 % total harmonic distortion.

Speaker section

Speaker unit

16 cm (6-5/16 inches) Bass-reflex

Power Handling Capacity

170 W

Impedance

3Q

Frequency Range

25 Hz to 200 Hz

General

Power Requirements

AC 120V, 60 Hz

Power Consumption

160 W (at operation) 0 W (in standby mode)

Dimensions (W x H x D)

169 mm x 411 mm x 451 mm (6-11/16 inches x 16-3/16 inches x 17-13/16 inches)

Mass

11.5 kg (25.4 Ibs)

Satellite Speakers (SP-XTHC4)

(SP-THCA4F)

Front speakers

Speaker unit

8.0 cm (3-3/16 inches) 1.5 cm (5/8 inches) Bass-reflex, Magnetically Shielded

Power Handling Capacity

170 W

Impedance

3Q

Frequency Range

80 Hz to 20 kHz

Dimensions (W x H x D)

104.5 mm x 139 mm x101 mm (4-1/8 inches x 5-1/2 inches x 4 inches)

Mass

0.56 kg (1.3 Ibs) each

(SP-THCA4C)

Center speaker

Speaker unit

8.0 cm (3-3/16 inches) 1.5 cm (5/8 inches) Bass-reflex, Magnetically Shielded

Power Handling Capacity

170 W

Impedance

3Q

Frequency Range

80 Hz to 20 kHz

Dimensions (W x H x D)

137 mm x 105 mm x 104.5 mm (5-7/16 inches x 4-3/16 inches x 4-1/8 inches)

Mass

0.57 kg (1.3 Ibs)

(SP-THC4S)

Surround speakers

Speaker unit

8.0 cm (3-3/16 inches) Bass-reflex

Power Handling Capacity

170 W

Impedance

3Q

Frequency Range

80 Hz to 20 kHz

Dimensions (W x H x D)

111.5 mm x 148 mm x 106.5 mm (4-7/16 inches x 5-7/8 inches x 4-1/4 inches)

Mass

0.56 kg (1.3 Ibs) each

Designs & specifications are subject to change without notice.

1-2 (No.MB380)




SECTION 1
PRECAUTION

Please refer to "TH-C3 (No.MB358)" about this section.

SECTION 2
SPECIFIC SERVICE INSTRUCTIONS

Please refer to "TH-C3 (No.MB358)" about this section.

SECTION 3
DISASSEMBLY

Please refer to "TH-C3 (No.MB358)" about this section.

SECTION 4
ADJUSTMENT

Please refer to "TH-C3 (No.MB358)" about this section.

SECTION 5
TROUBLESHOOTING

Please refer to "TH-C3 (No.MB358)" about this section.

(No.MB380)1-3



Victor Company of Japan, Limited
AV & MULTIMEDIA COMPANY AUDIO/VIDEO SYSTEMS CATEGORY 10-1,1chome,Ohwatari-machi,Maebashi-city,371-8543,Japan

(No.MB380)

@ Printed in Japan
VPT



SCHEMATIC DIAGRAMS

DVD DIGITAL THEATER SYSTEM

TH-C4

Area suffix
CD-ROM No.SML200505

J U.S.A.
C Canada
M A1
(SP-THCA4C) (SP-THCA4F) (SP-THC4S) (SP-PWC4)
(0)
/_
(XV-THC4)
compacT D|G|TAL"
% @US@ IDJIU Em Digital Direct Progressive Scan
AUDIO/VIDEG" SURROUND AV COMDU I INK

Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)

Contents
BIOCK diaQram ---------nssmmemm e 2-1
Standard schematic diagrams -------==--===--=ssmsmmmsmmee e 2-3
Printed Circuit Doards --------------esrmmmmmmmm 2-23 to 32

No.MB380SCH

COPYRIGHT © 2005 Victor Company of Japan, Limited.
2005/5



In regard with component parts appearing on the silk-screen printed side (parts side) of the PWB diagrams, the
parts that are printed over with black such as the resistor (mm), diode (wm) and ICP (@) or identified by the "A\
mark nearby are critical for safety.



< MEMO >



Block diagram

<Main body section>

DVD servo section EXADTO to 15, EXADR16 to 20
o 1A.B. C. D. E, i RF+, PD(CD), PD(DVD) NEXCE, NEXOE, NEXWE 1C509
DVD traverse Z LPCO1, LPCO2 FLASH ROM
mechanism |3 LD(CD), LD(DVD) | LASER DRIVER | cDLDCUR, DVDLDCUR
Q101 to Q104
X301 | |
27MHz 1C301
EM+- MAO to 10, BAO, BA1
WOouT Fe- PANTERA-2 | vbao to 31, DAMO 0 3
vouT T+- NCSM,NRAS, NCAS, NWE IC505
UoUT [ 15201 SPDRV, TRSDRV, FODRV, TRDRV DRAM
DVD ol com /IDRVMUTE, /SPMUTE, FG, WHALF INDEX, TRACK, COPY
traverse Z DRVER AIN, AOUT 0 to 2, BCK, LRCLK
mechanism |S TRVSW DACPDN, DACOCS, DCLK, DDATA
S2UDT couT
| U2sDT YOUT
SCLK crouT
— e i — — — — — — 0| |ses CoouT
. . CPURST T
| DVD changer mechanism section | ucs rx | 1C704
o] DISCSET ADC
| IC1 ' | 2 |Lsensor DISCSTP
TR1 OLO POSITION = AINL
||| TRAY1t05 ] R cL SUB TRAY SENSOR = IC452 AINR
CLOSE SW = EEPROM
| END SW 1[o]srepsw IC701
= EPDI,EPDO
I TRAY |M.TR OP 1| EPCS,EPSK |Ct7003
OPEN SW
I NG ( ) IC1,1C2 I CLSWT1to 5 DISPRST DAC
TRAY / POSITION STSTSW 1C451 DISPBUSY
CN2 TRAY MOTOR DRIVER I MTOPSW DISPCS FAOUTL
I POSITION POS_UP, POS_DOWN | o |POSMLE MECHA _[pispck ;ﬁ%ﬂ?
SUB TRAY L MOTOR L SR 2| 1| Z|PosmoN CONTROLLOR|PISPD2S |LRMUTE
S.TR_ST TR_OP, TR_CL < & [mTOP, MTCL DISPS2D RAOUTR
| START SW a SWMUTE et
I I T SWAOUT
— e e e S EEn S e EE EE e E CN701 | CN702 | CN703 st
P I ti CN403 | CN401 | CN4Q2 [e—
ower supply section System control section ] —
|| Q951,Q953 IC473 |pisps2p, DisPBUSY
FL SW, -VDISP SW F1,F2 ADINL
woisP| | o U2sSDT 1 ADINR
Z2M cs
>
1C953 B5v. D5V| = | & _ B5V
B5V REG. ovopoN| S| [T D5V
SYS-PON § SYS-PON, DVD-PON CPURST
Icoo1 | | T901 SoLK IC476 | | 1C474 |
MoV AMP. TV-SOUND
SWITCHHPOWER 2 DVD-5V  [xa701 IC471  [s2upT . }
= _ AUX
REG. TRANS._ 1C951 |Dsv, D970 I3 ‘DVD 4V |8MHz SYSTEM SELEeD P SELECT
[ D5V REG. Svbsav | 3 | o MV
T (2 +12V | Q4821 MICOM  |VOL-MUTE, VOL-DT, VOL-CK
DIODE | | Q954,Q955 222V S 12V | AM-BEAT |AM-BEAT SETUP, TU, L-R
BRIDGE DVD5V SW|— cut
] Q4702 |RESETINRST
P90t || Q956 to Q961 [A+T2y [ Q4702 | s-MUTE [Q4801, Q4802
AC IN A+/-12V REG. S-MUTE
1C472 VOL-1, VOL-2 DRIVER
RESET REMOCON
FL display section 111 I KEY1, KEY2
KEY3, KEY4 1C475
REMOCON F1,F2,-VD|SF’<_ ole|™ DI-CK, DI-DT 1Cc478
SS|3S1(;O KSE5$O KEY3, KEY4 (REmocon  BSVIDSV &% DI-CS, DIRST HP-DET TUNER
- VoL [STANDBY - ? ILLUMI ECHOLEVEL AMP.
JS541 VOL2 Q503 MICMUTE
VOLUME FL display FL display section MIc
DI-CK, DI-DT section (P_key) (Operation key) AVC-OUT
DI-CS, DI-RST = AVC-IN
IC501 [ILLUMI ket ] ] e S521 Q4703 J4891
DISPLAY [pisc1to5 alg POWER 8522108523 |KEY1 [m[ 4 AVVLR AV
DIMMER Sw
DRIVER i S526t0 8529 |KEY2 f=)2Z TU-DI, TU-DO, TU-CK COMPULINK
GloG14  [Q561 to Q566 OPERATION R|Z TU-CE, RDS
D511 (@]
P1to P35 STANDBY SW TU-PON £ Tuner
DI501 D561 to D565 STANDBY LED Q4091, Q4092 [Tygy g Pack
FL DISPLAY DISC LED TU9V REG. ac

241



<Subwoofer section>

Audio & Digital input section
SW.P.ON, SETUP .
c.sw =|SYSTEM
HPOUT L | Q1131 IC158 [ SLSRL RISICONN
HPOUT_R| Q1133 to L
Q1135 1C160
S.MUTE AMP.
S_MUTE |
VOL_MUTE
VOL_DT 1C153
VOL_CK 6CH
VOL.
OUT-SL 1C154
OUT-SR SOUND
BOOSTER
LR |
TUNER | Q1251 |
Q1252 on| 3| DIGITAL
TU_L, TUR| 1C151 3|IN
ourL Tu-sw| 1C152 -
OUT-R | IC531 Agwo
ouT-C 1C581
L ouT-sW IC591 |
L AMP. Aux-L |J1101
R ARG AUX IN
T
— = CN442 [ CN441
] CN412 | CN411
Video input/output section
OUT-L, OUT-R
VIDEO-MUTE"1
VIDEO-MUTE2
VIDEO-YCMIX
DIN, DOUT VIDEO-RGB | |C431
VIDEO-LPF VIDEO
C, CV-Y1,Y2-G
CB-B, CR-R CR-R _D_RI_V_EE Cr
T XL AR css| | co[E|COMPONENT
JOUND Y Y2-G| . = v[R VIDEO OUT
AUX o
LECT T
~---y*—4 |S-VIDEO ouT
nron HiE ol [composiTE
2o- VIDEO OUT
SMUTE CV-Y1
c [
TU-L, TU-R N
TU-SW IC411 5
:ESSTT_"FE VIDEO-SW Véla\llio
1C601 O -
HP o115 |S-VIDEOIN
AMP. | . o-1+
o “o-+—4 |composITE
HP-R <------ VIDEO IN
CN460 I
CN701 -
Jack sectlonl
2ULINK
e HP-L, HP-R, HP-DET § HEADPHONE
iner 2|ouT
ack T

Amplifier section

Mini Din
CONN.

L0.¢er

AC IN

J2702
1C201
- POWER V971 Ol|FLouT
AMP, — O|FrROUT
B FCOUT
RY272
1C202 A SLOUT
\{ POWER
SROUT
AMP. Ryo73 O
n |
C,sW 1C301
L SW_SIG
SL, SR . AMP.
L,R SR_SIG
1C302
AMP.
AD_SL AD_L
AD_C AD_R
| CN273 CN272 o] CN271 e
— CN502 CN372 |l CN501
Sw_siG % TO SW
N
|_[@523 to Q525 E SPEAKER
PROTECTOR] | [1C303
PrROTECT | | AMP.
|
SP_RELAY-
| Q603 | [ Ic601
Q604 MICOM
P.ON_SIG
Q542
PON_SIG}, 4y VOLTAGE]
PON_SIG DETECTOR
Q501 to Q505
POWER CONTROL
& PROTECTOR
+5V
L Q152
5V_REG.
+7V
D165 7V
7V_REG| *
+VH, -VH D166
+VL, -VL -7V_REG.
D151, D152
CN152
T101
POWER
TRANS.
Mother section




Standard schematic diagrams

<Main body section>
B Power supply section

2-3

AN

T901
QQs0097-001

EP901
QNZ0136-0012 4
N A D901 a ° Py
2 DI106
| &
| d o 3 R901
| F: < co08 68k
oy = 0.0033
Ver.J/C | A\rFe0n Olg oot AN\ A 71000 aw)
: & QQR1105-001 2 +
* co07 2
120V 60Hz P01 > c909
D FC901 FC902 100p/1000
QNG0003-001Z > D903
a g 1oERBAOTH
& 4
© O
230V 50Hz g < D902
g Cc913 10ERB40-T1
3
Ver.UW/UJ/UY/UN < 2 I} .
b 100p/1000
US/UX/UG/UT N z
3
3 ~
sLd iS5 s L3
110-240V 50/60Hz <]<» < ;:<] S N GROUND POINT .
offts 4 3 FOR PRIMARY
EP902 & o
QNZ0136-0012 2 > VOLTAGE
L—( . €
. R907
0.47
HS901 2w Doo4 R903
240V 50Hz E70306-002 ¢ ) 10ERB40-T1 27
. ¢ . s
D |
* K902
D908
10ERB40-T1
+RE06 N R904 .
680 Cc914 D910 2.2k
30125 10ERB40-T1
SWITCH
REG cots cet0
470p/50
220p/50
1.21v
RN roes
PC123Y22FZ 220
ov
15.2\/
PC901
R908 GD PC123Y22FZ
3.3k cosz |+ o o
3 3
coos 0.47/50 TT e e
2 100p/50 : :
R960
D911 4.2v 100 * D991
FR104S-T5 Q991 »
KTC3875/YG/-X -
<_/'/ 0.6V e
ov
- < 0
s <
83 8° ]
23 4 4
/\ cote
0.0022/AC250V
11
i } GROUND POINT
FOR SECONDARY
< VOLTAGE
Ver.
ADDRES o sc B UY/UW/UJ/A VERSION CODES
REF No USIUN/UX/UG/UT
J:US.A.
“Fo01 (A-3) QMF51U1-1R6-J8 | QMF51U1-1R6-J8 | QMF51W2-1R6-J8 | QMF51W2-1R6-J8
6A/125V) (1.6A/125V) (T1.6AL) (T1.6AL) C :CANADA
B :GREAT BRITAIN
*R962 (E-7) ™ ™ NONE NONE
UW:BRAZIL/MEXICO/PERU
“R963 (E-8) 100 100 180 180 UY:ARGENTINE
UJ:USA MILITALY BASE
D991 (F-7) MTZI5\1C-T2 MTZJ5.1G-T2 MTZJ5.18-T2 MTZJ5.18-T2
A :AUSTRALIA
“K902 (c-5) oomn\romz QQR0779-001Z 0 (B3199) 0(B3199) US :SINGAPORE
UG:TURKEY/EGYPT/SOUTH AFRICA
*R921 (B-3) NONE 3.3Mm NONE NONE UN:INDONESIA
UX:SAUDI ARABIA
*P901 B-2 QNC0081-0 QNC0082-001 QNC0081-001 QNC0081-001
(-2 UT:TAIWAN
“Re10 *R911 | (B-5) 750k 750k 470K 470K
“CcP952 (F-10) 0 (B3198) ICP-N5-T ICP-N5-T ICP-N5-T *
FOR POWER CONSUMPTION C/M:
Q962, Q963, R967 USED FOR B VERSION ONLY
OTHERS USE B3003
REF No o |aooReES ° e ° usu/::wl‘;\tl)v;‘/ﬁ,;/u1
Q965 & B3116 USED FOR B VERSION ONLY
QETWIZDM-157 QETM2DM-157 QETM2GM-686 QETM2GM-107 OTHERS USE B3001
coo7 (8-5)
(150/2Q0) (150/200) (68/400) (100/400)
D954 F-9 FR104S. 10ERB40-T1 FR104S-T5 FR104S-T5
(-9 \‘i A\ Parts are safety assurance parts.
'83003 | (B-10) SHORT oPEN SHORT When replacing those parts make

sure to use the specified one.



co51

100p/50

/\cPost

TCP-N10-T

| GVA10092-A2

POWER PWB

o -27.6V -27.7y
D51 l co61 93
FR104S-T5 1.5/25 &S 0269V
RS
C952 100p/1000 +
Q953 Ro53
KTA1267/YG/-T
22k
36.6V -33.6V
o o
B s
D952 3= -3
FR104S-T5 wog - [ o3
P 83003 |3 & w. w
35 Y oy o 4
R EaR) o3 3 N
ow 2 L N F DVD5V S
+l e fod s ¢
ER aN L o aov °
o oT ok * @ <
-9
° -5 5oV Qosa %
2y - 8
25 x $12305D8-X 2s
Z>Q ov i3
1C951 PQO5RD21SSJH
- ov 29.7v (7
Qo63 -24.8V
KRA104S-X KTC3875/YG/-X e 0ssx 2
-33.6V.
3
13 ov 83001 5.0v
4
co53 100p/50
5
ov
16
> 5.0v
o [+] res2 5.0v
<. 22 o
SB340-F82 95 © 50V
08 o
15 =
R966 220
14
cP9gg Doge
IcP-N10-T 1N4003S-T5
rr——————— == —— = ————————q T
] | THIS BLOCK N.I \cosa |
| KIA7805API |
|
\ ‘ u
| | <
| [ B
-
2 ) | 2
2 sz g
4 ] | ?
¢ Il 8d <
1| o | o
| - I 8
<] 25
| ! Lo
| | NI
| | ca70
| 4.9V (7
t
cosa 100pis0  -———1 B
2
w0
2« A W oo\ Lo]
H  Dags BRechPIs v
Bl A
M
+
co7e 9.1V
820/16 1 S
7
12.5
- 8
3 MeS
S
-12.5
10
S
cose Les7
Qoss
100p/50 0 KTA1271/0Y/-T
* o o o °
12.5 (é 9 12.5v
©
% IS R983 x
AN 8 12.0v R985 £
D956 o 1k 1.3k S coss
FR104S-T5 o x + oo 25 100/25
+ 39 R984 2.2k 3%
cos2 « ov
] Q960 11.2v 4.8V
560125 3 KTA1504/YG/-X
12.0v
¥ boss ov
188133-T2
Ro86
1.5k
co87 + 2 +
180/25 2o Ro87 cose
4 1.5k
© 100/25
A D957 oz R988
FR1045-T5 23
. 28 12,4V
4 - 2.2k
-12.5v -12.5v
957 L9%° Q961
100p/50 KTC3203/0Y/-T

w

F-
F+
-vDISP
D5V
DGND
DGND
B5V.
DVD-PON

SYS-PON

DVD5V
DGND
DGND
DVD3.3V
MGND
MoV
MGND
A+12v

AGND

TO CN404,CN405

A-12v

EP951
QNZ0136-0012

TO CN406,CN407
(SHEET 2)

(SHEET 2)

SHEET 1

24



B System control section
To CN441 To CN

(SHEET 5) (SHEE

3 I N
3 ziiiszlizvzzizzzzzzzacz RS
ERNR jrizzze 3 Tl
5 TR c5c5c3 3 35 7080
2 2R, 228232 x%x 040273 L2 2
oNat 4 §3z3z:ptpipeieiez=zzada 323¢
acrrossct-an
- STelele= STeTaTels] acriossci-or [Talale
[ HH\V\V\HH\HT\T\T\T\ [-Tele]
> g H NEEN
MAIN PWB 4 HEEDSE NI
s mt ole Te
3 HH 3
A7V REG
TE Tea7
geoar KTcazovT HRH goon
A5V REG SAFETY1 DETECT 12.3v Q4921 4y olgl3lzalz 172y 3
R BEHEMER
o= «f<|2
& 3
33q v qs e
D831 i H 3
15813372 N l+ 2
«iA7805AP1 o o
- £ o
ss1a072 | krcrozex 5 ]
o3 | "Seset a3 H
i€ 23 3
< ¢ H
N ) o o £
i % sev L H
+1 T +X R 348 Ssiss s ~
] @ TS Lol ¥, ¥, e s 2% g
e S| 8 S| 3le 28« x50 Das3s o |a 8 ¥R 8
9 32| 28 28| 32 3% R 2 ez kg
H RE RE I IR A > LR H oo
L8 gl %l I g g ¥ b
EH J CH | 158133.T; a2 o 3
23 S« H (I TTTCE g s—
8 oot 34
F 30.2v i L
E g 0 E
- voov [4] el
— AN AT oV
VOISP ssov 3
= wov |2
— | osv
o DGND ov 7
o g —e
3 72 PEETRE S
Ll H A-7V REG 58 2% 32 E5°
: F2 g oz
g z
18 T o , Rasar NI
o $ oD B33V ‘
%) H I ANN—
H
[N e i T4 [owor T
DGND ov |4 E} I fsst3aT
Bsv sov o 5.
£ ovo-ron 38 >
ovD-PON 4oy [2 ZER 3333 HE
SvS-PON sy |1 PEEP nARe
= o aasss HEHE HHEE EXEGE)
1 B rovzevovIT KRSTi0sx -
i3S Q4961 2% B oz > gpeFpp
Ok EE 4 $88FF $EeEEE
| hBRE LR AR
PN e dHNE 8388y ¢ wuu
! o HHHHEISSSHHEE ov Farge £ waoa
8| - £ HEEHESE VREF- iz I oo
g B 8 e Te I [+ 2 B
I H H NTSEL(RGBSEL .0V B
3| H VERSIONT 4.0V
P o veR-si
<3 B s asv
i % . R
s H -g 3 f versionz ov
g% LE: o2 Keve s Yor
33 T PH KEV-NT a0V
ovo-sv  sov [ £ 53 33 weva carrz
Sz KEY-IN2 4.9V
DVD-GND  ov |4 . . 1} o¢ KEYS o &
KEV-NS a0V
= | oveone w[s . ?
3 KEVNS a0V
S T |ovoav e[z | H ITREED ETS Wl MN101C49GEW
o 4 VREFe  aov
O |weno v < H 1car
: 5i|lCEY |8
3 H S == =¥ 2.3v
s g5 3EER
H % = I osctemHz) 2.3V
T 3
Oy | mov ey I ano ov SYSTEM MICOM
aov 4709 0.01/15 ¢—| |—8 ne ov
= < | meno ov [« B
car07 10016 B N tov
vizv e |5 -
o ono ov
AGND ov [2 RasTz
oroo  4sv
L12v izsv g 530" caros
226 ) ne ov
" orek  asv
s H WAy 50 200 a7y
28 3 Ra7er s S2UDTITX(EATA OUT)
b LA Y UzsoT
2 EERI-N- == 0 ATAIN) 4.0V
3 o 58 9 3 az0
H . efouwg ado A A = scLkicLKk 4.7V g
H H 5 e . .
H IEnnEnn scs a1 > 5
gl H oo crursT i 3
el crureseE @3 N i
1 IV« 33 5. 4. 5«
i o 859 .o ks 82 g8 8¢
IR IR B $ o 32
1 X 885233 8809530909083 238
1 e Fse%s sEggzzeeesse e
[ 0 K]
= z| ov IR
39l g£° HEE
1 * [v2-G. < <)o
voout v [es
£ oo
o omuTe
£ 3
coout v [z os
beND  ov |2 Rastd
orr 238
crout  ov [
benD  ov [ Ka702 (Ba165)
== con
GamoB21001Z
cb-ouT 02 |zz o6z, a9 o
[22]
oasar = - -
oeND v |2 iR, cor FLksH) B B 2 [ ook rero
4 cveve — 5S¢ 58282 25
COMP o4v |20} Ka701 (Ba104) 53¢ SRS o3F
sov  sov o » GaRos 6tz
~ oav . s P £ S
~— N~ -l Iy 5 5
S i} : = SE
i N H g
R o s » : H ig
H a8
D484z DVDGND| 3 * *
e MGND  ov ) 2%, LEVEL SIFT | _ g ¢
MGND  ov 23o o £
&) isg £ 15513572
T weno  ov om rcars H Ji B < aros e
O ) rx zov |1z SN74HCTIZNS X — °
=< wsy s [ —— 5 .
FFees g H >
MoV v |10 H g 5+ siomo
Nl e 3 H g -
MoV sev |o . - 2 R Qiros
&l RiA7s0sAP1 | 100115 & H ¢ o |krci028-x
ne s 58 &l I
e 5 3 - £
DISPS2D sov |6 a2 H
A rasss, 27k 2007 5 ov
DISPD2S a2v o oV icarz &)
R404, A p 2.2k sk
DIsPCK  aav S-aossocnNE W E
WA e
bispes  2ev [
oispeUsYOY [2
= RABET Saw  orursy, toarr
DISPRST s2v |1
5
53
T3 3 cnase
onaso C GeD230401-042 onas
QOF1208C1-13 -. L aap2sosct-03z
\_I_I_I_I_I_I_I_I_I_L) z 1o sz
N H g 222
5 H 3
° PR
M z 20 rm 3k z 403 - a0
L83 fpzzifies 2838 2 2
EPa03 78 w8 agyy¥oo N tee
s
N N
Pliirrrriian o To FW521

To CN501 To FW561 (SHEET 4)
(SHEET 4) (SHEET 4)



To CN442 To CN703 To CN702

drdzdzid az3zszdz Sd Az
4 z 4 z 2 g ow
- L2 L 222 Z,22232235>3
#0 [Teo[+[o[ [ ===+ [ o] e[ [o[ e[ [ s] oo™ oseer e [-]a[ o[- o[ o [ =] o] SEEEa
T« P ) \ k- [ [
a @ |
8 - |
g 2 : |
? 3 2 |
o TU9V REG < Ra074 10K !
|
sz0bbiso | |
"
Ra013 KTA1271/0v1-T S |
178 c6515 ce514 iC475 (1/2) 3 e 12.3v ov. ) !
0.1716 RC4558D-X 3 3 |
2 !
caniz S &S| 19| ceorn asps olo2. !
' M2 S8 1
6200p/50 o %%, oTer °z 1
v fer [ oo o !
i EXR e i
= fxnds B o ! caor1 g |
25C3661-X 258938 o ! 8 |
EEE o i !
150 5 varx (S }
508 R 47150 > In ! —1+q--
g
e
TOR 150 Q4951 ;
|
|
|
|
|
[ rv-sounormux
I| Seleeraw
|
T I VER.B
vV J_ | Ra997/R4908 for UL
|
| — | em—_—
| |
L—<aono
30| EP401 ve1
R4975 DGND, AGND
SMUTE -
e a0 e ™
o L
sw.ron
see [
we-oeT U b9 - I
wicmuTe N 52 BLAMKETL S awkor
1bEO-RGE 38 e
Qo VCR-S/C
comurez H yersie N e
szt yioeo-sW N oso-sw
4 TULPF 5 KRC1028-X VIDEO-MUTEZ
H . VIDEOMUTEZ N oeo muTez
° 8 ViDEO-veMIX
z < VIDEO-RGB
‘ S-MUTE DRIVER ‘ SW-F’ON‘ ‘ AM-BEAT CUT
R
I
I
I
L !
I
e - D i
00k Ra710 EEEEEER 4 |
A— HEHEIHE H |
HEHEER S : i
i 5 |
& @ 1c601 !
8 £ RC4558D-X
& "
w VERSION (AV COMPULINK)
& 0
D | ey | oTHERs P rt f t I’t
arts are safety assurance parts.
7150 | oeres | maoso .
£ | maros | saoen When replacing those parts make
S e ~ & | x e
P £34 < | sure to use the specified one.
T l_
an
88 23S« NSO TH-C3/4/5/6/719
58 S T PARTS LIST
2150 ne ut vz [us |/y 3 Ui vz fus |
EEP RO 'So301 we o ()
1c477 HeR o (VERSION) | g4771  p-pOWN 10k 10k 10k ok x 10k 10k 10k | 10k x
5
BR24L0BF-W-X 0.688° 30 wpoET o4y O
270, VERSIONZ
—\\\——9 4009 Z
I e EP402 (MODEL) | R4773 P-DOWN 10k, 10K
St = v Fy4——0 =~ o
* Rag9l 1 Rrazsr BUP 10k | 10k x x x x 10k |10k x x 10K x
1 o (PALIRGB)
[ e gz | < |7 | Lo Lo [ |« = Lo o] = =
« QNS0089-001 I (NTSC/YC)
5 | ver-sw  [ra7sa 1ok 10k
ik 2 ' S0 x
it : |
-
1 . sov
T | 00/
mET -+ “.useius veRsion onLy | Tour
8 ki ro) £
- — —
AV COMPULINK [aal (NTSC): UT/UJ.
. i v
i

S(NTSC): UXIUG
e

E

* onaTo
GGF1205C1-05

Ne

(EXCEPT J/C/UJ VERSION)

Ave our|
beND
Ave in

SHEET 2

2-6



B Video input / output section

GVA10092-A1

SCART-RIN
SCARTALIN
AcND
Avizv
vss
vs1
THIS AREA USES
J/ICIUY/UW/UY
| I
; I
Asv ‘ |
| | o
| Rat1 ! 508 5ok 2212
I
| 0 + } 220 +
caror es0
! LA VIDEO SW | casor TT
| pons
AcnD |
! |
! T
o ! ‘
- o ! 1C411 MM1233XF-X |
& & g I ! casez
H 4 - ! | 0116
So | |
& I
| I
I | ne
| I
‘ L NC
i T
I | casn
| | 1}
I 11
‘ I o010
_ ! ! vioEo-myTE+
N _ ‘ R e
e ! C4301
— 4 I |
w ge o ‘ R
S ! |
RO ! vioEo-vomix
| I
i carrt !
o -
H 1T T
s g In | 116.3 |
gr r N ! |
H H B | ! J
B I
H I 22150
v2-e I , vibEo-reB
R o o . [ | !
.S58 3.SSE. T i cazt
B o5 gr S | o
H H H ) ! i
| ; e's
CB-B } |
I
R o ov ‘
3 g ! c4341
338 ov assss U J i
H H 25G28144-51-x {1
ve's
ov
crm vioEo-MuTE2
5 8 2g
Q- & g os
& 2 L3 iy
e
z
@
g
g
s
sLANK-CTL BLaNK-CTL
ver-sic
vor-sic
vibEo-sw vioEo-sw
vibEo-MuTE vibEo-MuTE"
vioEo-muTE2 vibEo-muTE2
vibEo-vomix viDEo-vomix
vibEo-RGE vioEo-RGE
*1 PARTS LIST
5 | us
o Y N D
razoz | w30 | e
.
ez | 20 [ w0
a2z | x so0
ezt | _se0 | 510
voo | mazez | 3w | 0
P T
rezas | 220 | x
oo | Rz | a0 | se0
rezez | 120 | 120
oom | razsr | a0 | seo
Razsz | 120 | 120

U ¢ UIIUW/UYIUSIUNIUXIUGIUTIA

Jiare



Jaaos
aNZ0625-001

] —i

THIS AREA USES FOR
B VERSION ONLY

1016

! |
} 22 !
|
! |
! |
I caars 4477 33091501 |
| AL raara @ | aveorour
Y i I
| H Q| Aveorin
g RS S o]
! 2y &L s . @7 | aveoLour |
! | 23 S0 et 150 )| Avoro aeno |
+ % RS e
i Rasan, o B naars 38 L :% 1 @ | oo |
AR 3 Sl 83T 338
! H 3y it | @ Aveorm 1
A—— ez
} AT I - !
| 7 @| runerion
| @ | oo |
| Ne | Sox AV
Rassz 75
! caass o | e | (SCART
! U4 [Ce
Ne i TERMINAL)
| LD | v !
Gasss |
I i GND |
| R4452 o £ Y
I @ | me I
| @| eLanine !
+ I Radss 100 1) | oo | FuncTion | spEc ok |
! | : |
oo 7s
| gy Mmoo | Lever o | oav ov ov
| § @ | cwv |
‘ P o e oo oo Lo
VIDEO DRIVER | Soies = @ |
casza § oo
PEO DRIVER | ‘ 4o ! e oo oo [
o ! — ;
| 23 | BLANKING | SPEC w
1 |
i I vie | ooav | ov
|
} | reB | 1av asv
|
+ |
! |
! |
! |
! |
! |
! |
! |
t |
I

VIDEO-vCMIX

\ saa02
o s iNGs72-001
Rast —
iy D) e
" A
iz
il
H R4441
470583 3@ Pb VIDEO OUT
7s l N (COMPONENT)
iz
\ 3 T
H
s4ite Ras3t ,
T - * 1 O v
iz
il
e
! 4421 !
| a706.3 75 |
| U0 i |
T 5] |
I I
} Soiso  Ragnt |
]
— 1ok |
| s | = M !
| L.
| g ET ! [ vibEo ouT
I ° I | (s-viDEO/
} } COMPOSITE)
| cason |
| aroes 7s I
| Rador R |
T i O) cv |
| z l B I
I o |
I H
f i ] . O_,-L |
| |
I |
I I
I I
| |
| |
I |
I I
I I
| |
| |
|
t
I !
! oty !
t il ‘ !
I
I can I
[ |
t il !
I |
I elz|el= !
I I
I B I
| g ETE ET | VCR IN
} z| 0 ¢ } (S-VIDEO
| | | comPosITE)
I I
[ |
s
t il O) cv !
! 2 ;l s |
I Tl I
538 I
| : 51’ | THIS AREA USES
I | VERSION J/C/UY/UW/UY
]
| Ver.J/u 1 i
[ e [ K
| SHEET 3
|

2-8



B FL display section

+
cst0 csoa
N an &

DISO1  QLFO154-001

FL DISPLAY

z o L
§ oS T

csos
N

Js5aT
Q8w 1122-001

Rsa1

[ — cso1 }”‘7 10k

iLumn

voL1

csos
roes P

ics01

Frears
csor REMOCON
oauso 419
1es1s
S lmarrxvr
Rsas rsas rsaz rsar
T b 5o 5

KEvs,

DISC3 DISC4 DIsSC4 DISC5 DISC5
L.

T}“ PLAY " OP/CL |‘ PLAY |‘ OP/CL }“ PLAY

Rs3g Rs38 Rsa7 Rs36
Tok 6.8k B 3.3k

KEva,

}» DISC1 } DISC1 } DISC2 };DISCS

OP/CL PLAY

$531-5540
QSW0825-0012

GVA10092-A3

JACK PWB

en7o1
QGF1208F1-05

To CN460 i [
(SHEET2) ' [ To CN457 e

46001

NQR0007-002X 2500 0001 SHEET 2 KEY2
ov BGND

oR\RUMz I sDaza-E

2
R6001

6004 —— o s

=
k6001 —— T v s

=
k6002 == v s

— 7

a |, F.SKIP

k6003 ——) v s

t—

we001
QUB220-150MHP-E

|
Ceooz 4022118
|

Coo004 0.01/50v




o508
UsE
HG
wsoo1
58220 100MHp-E
@—r—l‘v
1
|
I
Fwse1
QUM 14-1806z4-€
— s8v FN pick
s sov pdvor TO CN456
- o4 > (SHEET 2
oy
3 oree )
onsos
8eF20sr 110
257y B2
-38v [ voise
=2V ] osv.
Y o I
ov |
| [o] stanpey
o O To CN450
it o+
7] sonp
Remocon aov [
pevocon 29 1o remocon
sov [
5| keva
Keva  sov I kevs
eva
oot
2| oror
o
{1] ooro
1
1
|
[
1
1 GVA10094-A3
|
POWER KEY PWB
ewsoz | Fwsoz
aumz1e-00zaza-el QUM216-097474-E
sov py keve  plysov
wryRen = EEEEE—
0 8
sov_p Bsv sov
3 3 STANDB
ov P stanpevp<] ov
o 0 8 R LED
o T o
] b<Ceomn b
O O
iomz
Rsbe
” POWER
ILLUMINATION
LED
ERsio
PART o othERs
ost1 su-asauRc-wT stR-ssavempa-T
Rstt 15k 220

GVA1009: 2

R521 R522 TOP KEY PWB;

3.3k .9k
ss22 ss23

} SOURCE } sToP

$522-5520
Qswo0s25.0012

SHEET 4

2-10



B Audio & Digital input section

out-sL
AGND
out-sr
AGND
out-c
AGND

ouT-sw

To CN412 (SHEET 2)

Ne
3.3y
om
DVDGND,
AUX-R
mic
Aux-L

>

ouT-R
Avzv

outt

To CN411 (SHEET 2)

oeND

s_muTe
voL-ck

voL-muTe
voL-ot
NG
sw.p.oN

seTup

AvxL
TuR H é H
s 3
casa0 b4
-3 icsa 858
- Keisssox 3
c2s35
n2ser & H
55 4 S sl
& ~b Ras2s
©2533 7
our Ras39 i
B
1.3K +
2 & 2 % Reses
Resar . gc % 2se
100k G253 1 | aoer £8 H
e 33 4 H TPz
Rasa " ar ¢
H AUDIO
TERT J_ . F o - sw
R2530 ] 2 2 2
R2sd0 2534 1001 3 : : b crast
s
outR Rases
4 it 52k T
R2ssz
271 R2ssa
ty R2526 100K
5] Tk
-3 c2836 1955, eonon
Bt @) N crane
I ©
bH ey 2K
Ll o gtesnz | 1k
TesL1 vy
cas75 T
Rassa O
+ry +
o e c2s77Sus
TPC2 1150
cas76
0.001 casra
st
100 TPR2 e
? 1ese1
2 RC4558D-X
g a
568 cases || 2ropiso
ev wzse3 1 0w _| c2s00
u czs8n o c2507
T ov 3| S3ve Qa ot
3 R2s09 >
2sv o N3 .
icse1 g - o8 u
Gl o c2s81 RC4558D-X - B 82 nu 5 m —& N
" Yoo + H
oy Rasar N w §
s & =) R2562 :’—Ic !—‘Qn *C
- ov 1k o 7ok Y 5[ 0118
[ et R2581 < R2585 cans R _ et
29T EBS  ozos
85 soniso
zser © senrs0
2
100k ofoz22/50
Rasan —
g Rasoz | Rases
a2 | 5 Rzs00
Tk + R2586 8 2 *®
casoz Sox w
0150 + ' +i
ress1 ca00s R o
TRawi Resssan-x b c1230
@) 1csg1 —= )
Rassan
i)
L cizsa
o © To.ovso R2590
1002 100125 BN ] )
o sl 3 3
L2} 2 2 ]
2| §| mases H
1§ & H
S8 AUDIO x 3
H TUNER-CENTER sw H °©
Groo1 100125 NS ER i
8 55
y
Ri253
1254
] ov 22k P\ 22k
o N
o[ 22¢ gz
loav H
20
e A
alov A
25
miE
mES
mES
oloy
ooy
o
ikl KRA1048-X Q1252
Mrlzey )
I
S lov
e
o P
Tlov
s
o
lov

*3 USE U seri. With MIC.

VERSION
XV-THC3/4
XV-THC5
XV-THC6

XV-THC7/9



GVA10093-A1

AUDIO PWB

R1101 -
ST e s
2! H
pZ)

$S8ces0s  mito2

Z<Baais0 70
a
s

o

o
1107
A

001
1c153 BD3BTAFV-X
eswa
Rit22 cizis reswe
vouck c1213 R1149 4.7/50 c1217 O
Tz vodor o P
AR 5} i
VOL-MUTE 4780 + +E SwW
ot se
1145 4ane -
N 3 .
H . g2
o Tci226  a7pis0
] % 3 o
E 55 e 22 2. Rit7e oo ]
o 8 pt-] B
: Bl i
& ° c1216 o
c1214 R1150 4.7/50 ty <
c11a1 10028 ¢ t 1w o )
o 769750 ) B 110
& & 47150
+ TPCa4
I It e
ciiaa ! b STPPRAN TesLe
frests
o
C1209 Kosssan.x G
cizor  Rites /50 121
b =
sl & 8 0.01/50 Sz
4750 + T
5
< 1z
- 2 o1/30 o,
z @ HRE M H
® “ = | c1zea  47pis0 o8 o2
] & g
: -8
. ST craae  arerse E<3
¢ o3 1 iz E"% :
ng Tx R1174 a7k ces x e
° b=+ o2 AR N B u
g H 8 e H
H cizrz | 5 ED
SOUND BOOSTER ciz10 e M
<
i i -
4.7/50 R1142 +
b
PSR
TRsR3) Jo
#p our L &
1203 TeLa
oo 107
5 §
anizs * c1205 N
26, 47730
x r Saori
TeLs H o ty
] ox NERRS -8
c e 3l s e
z H 52
b
i RC45580-X
3 32 ic1s8 N
H . HEB SN ciz0s Sz
o - g B-
2 13 - 5
Tera H c1zs] ol
1204 ° R
ciz02 S R
wit6e y
Iy o 1222 7o)
) B 11 o
a0z, 120K
T
o our R
@2 R1170, 39k TPR4
R o

G110 R1108
S8 roo

ics0n

GR1FAVIORKOF

* EMC C/M

3 R1171 PART B OTHERS
SION R1172 [R1175]
s 1246 . 1248, C1247
1.5k 2K 1249 . c1250 . c1255 3300 NoNE
1240, R1241, 1202
2K 1.8k R1243 . R1244 . R1245 100 _ohm| 0 ohm
1240 01241, Crzez
2K 2K 1243, C1244 , C1256 1000p NONE
@ vk o || GEHEEEE | s [

DIGITAL IN

SHEET 5

212



B DVD servo section (1/2)

if
m HHHEE
m B
m >
m JEFELEAEI EAENS
Ymens
Y0893
R EE]
28
=
—— —_— e e o — — — o
| SEREEIEIEELE F ] 8 13 g
00000 8 ERE &
|
PICKUP ASS’ Y oo [emp— g LASER DRIVER - on
e veelz— L
s = vner ~
= Sor 7 c S
0 [e] = T8
anl - E3+F3 207 Enry
L0OB67-001 criea s cre =
E1+F1 Ene 234 3 2 ca1s
HoR-1404D » ol x B B o
8 e 3 3 ExaoTo
E24F2 E E NEXCE
e 5 s Rits 3 NEXOE
. te: i ¢ o7
ool g8 faw } 578 o oo ¢ |
Loten [} t LA P o104 « a ExoTo
s ) 17X -
otovo)[s e T ot
G| 8 i T For xomo EXDT1
PoovD) [T ’ — Sy =<e 83, a etz Exora
vA(ovo ! [s] = W £ 57 B H B0 Exora
vectnr) 5] 11 P ExoT10
4] - | COCEE £ or
F- |3 & ~ EXDT4 EXDT1
=1 T g58 EXDT4
TH|2y T EEEEE KRA116S-X EexoTiz oor
T [x T qigs | DF UN21ISX exots 12
L ll e @08 0Ty EXDTS
s p co
£ QOO " * oo
°g 53383 EXDT13 033
, S - M von e exoT13
TRA MECHA ASS" Y | H Ex0TE
| £ E o EXDT14
&
_Da— 8 o
FXL-D8—1 EXDT7
xons
ExoTis
Ras6 N Egone EXADR16
e - Flovons
g o 0 T ExaoTi4) EXADT15
FEED MOTOR ©0 s A S EXADT14
l— — — — . 4 o vss
GARQ144-003 et [o — evors vob12
n ExapTi3
e [ exwor
TAvsH |5 — s v ExaoTiz
SPINDLE MOTOR sWeND [5 eworio EXADTLL
wour 4
— — WouT [4—¢ wou K ExADTY EXADT10
. [
vouT |3 ouT EXADTS EXADTS
our
GAR0334-002 uout 2 oo M . Sé;ma
COM |t g o1
l l £ voDa3
A exaons
8§z QOO AREE e st
H A RRE NEXWE
S zses H HEE 3 N nass N EXADA1E
s BEEE © HEH Bl s LB oy g = G
H cas0_ypocee I §e VA = e EXADR17 (MMOD )
8 ceer oo | ] 001 LIRE xsors Eiigg
o o | :
H exwors
| \vARE L § ExanTs
oo a0 oo
ExapT4
vECHA = ~ vor ExaDT3 5
crasszs Vs C202 s SE Toon Exnorz 8
. exaotz §
©o— s ExAoTt I
o L = . exaoTs &
_|8 & olely x ]
=8 § ol u a
eE s-uBBospoprop
prafopigeneRs
e S B B BN BRI EEOEERN
3 BN BB
@ 3] 23] 3 [EXADR20 a
0G <ls - <lsls
O oo EE e 818 al= 2l2l=
| gigtegggrirggebect
g S5 5585552225555
333 2833 o
| HERREERBEEH
vhagFe R
L+ + 1 z LK
B fizzggL: G - &
EupogSSnnddea o
phbgeiideceegsipp 5T
| GEBR3333523286666 gl 8
e HE H
gs2 P2 &
g v H
| s
47 v
| aos
© o002 & 150p BS% 232
- = -
| ol s i3z 20: % MAEEIEN
86 gss s S& BHEEEE
] T . fa B REE UGS
@ fio—¢ 33. & HE HE
TREOAY . € 88 8
= el
| & £ g gl E®
-~
iz




(£ 133HS)

& |osno
5 |sDATA
4 |penn
3 |soLk
2 |pesET
+]vee

™
oo <
A ~
5 a
5/8= =
S — 7
H m
H soeu
3 vy iy _ m
i B [ womon v P
Y
5 3 FE ,|m_|m|m| _ ~
H H { ] <
> (Ts | >
doss | 5| 2 S g
| 3 g —
sls slels| | &l
B 2 8|3 5|8 & &,
; BEE H g 1 1
§3 HEEE B wa
2 ilsls
s
e & e N
8= 5.5 L s | Le
z re sl2 38 .7.
H 1] 2 = L 5
, B 4 . T
N o060 HE £ 3
= © [} BEEY 24423
(©©) ChAa— e
r BE o |8 A s ] &) o ] ] 1| ) ]
S fEE g g BEEE BB AlsE e a sl YLy i Rl i ] s030E0ERRRREE] s
v e B E A0 E>8 55000008 533336388 8825258332508 35803R848¢8¢ S3F5YIYIYE H
slslg] levvadd8 95 Bd5 SS88588888 HRBEE s 23z2383a85°833%803 3 3
2lE|fl g o dperu B0 3 R aa aaa o 0 TeE T H
o z N [FE=CT -
EV.LVADdHL(LSHDAY | = Y > A2 2 H33A
& 1ool neseey | £ 3 200 &) e
w0 e 5 N 206 B
) R e o) EEOOA - e =)
sTomM & o
Sioan 2 oo s @
com 639 &5 0O S430A iel
LOON. %) 10N SHA3HA be?
toon ‘%) ETDOA 2a0AY 61
roan %) 200 HHENTA 6 5
" e ceoon g :
) v|__ 0 & HHTNIA & =
BE 3 B
Zioan CRE NI € =
£oan %) TT00W NNIdd B} =
Hoan ) v ZINOHYNY @5
roan 59 07 DO T INCIWNWY &}
oroon 79 SO0M 200nv 6%
“oom 579 600W v.va3 67
coom €79 900W ossAY @
foom 79 EEOOA vavod @
o e 27436
800A S
foan (9 L00H assAY T
=T e
awpa 5
oo & oTNOH €@
= =
m o bvi ==
2 auso D= = oy e aisosa
oW . & =
o H L] 6 eeaon H (W3] Y INOW (23 st
& Dian g (A0D) SINOH G e
o 4 =& §§ 1%QvEiL) OINOA (3 SovaL
& svon S F IXamT) £1N0n €S T
& o oo e = I1 .
= = o
22 8 T RRGSD
il i ava TARQ S< eLeH. AHOdS'
o E] = ensa < Kl viEY NOWH/
B . o= 1075770 wnu
[ERD 2roon Srua G ey LAY
e o s e
va = o4 & 3
o 59 OF YW AsEN es 1SHNE0
| $F o= el TS
Rie & EEOOA S WAL
b (880 vid (33 e = e
o (o e e e i e L
o e (NIV) 2Td &2 * o
o 659 7Y Trd >< 05 osed
o 2 ot
SYW = &d S< 001 oied son,
- Sl ed = oot EX 10N
- 2 £ oy 001 = Laszn
| tF B &
- S g

SHEET 6

2-14



B DVD servo section (2/2)

2-15

(SHEET 6)

To W2
(SHEET 8) (SHEET 8)

To W1

To CN1
(SHEET 8)

for flash writer

FLASH ROM n A7i
—_———WW—
i
cs00 0505
SeazNSOTFIRY KASGA132HUCTS
or HY57VB4 1620ETP7
ADGRST
Exaotis Ex0Rte 7
EN Moo Moats i
o
oo o4
exor ooz Mpars
_— ExoTia
ExoTe w3 a2
Exoria = Moo
exors
a0 DI exoriz woos woato
NEXwE 3 e o4 Cst exore oS e
T /mEsET vee ()2t —4
BN g 011 Fo T eom w7 ey Bok
3193 yon(/we) 03 exors 20uT0
Rt T 3R L e D10 exori0 oawo Lok
exomre Ao oo o2 e ooun DAcPON
ExaDRI7 e s exore NeAs ek DAGICS
Exa0T7 w7 o1 Exort NAAS ook
Exa0Te s o8 ExoTa = DDATA
Exa0Ts - 00 Exor0 8A0 waty
| EXADT4. 24 JOE NEXOE BA1 MA9
exaom ov WA )
A3 GND 10/p a8 -
exorz o Jee Nexce Ao o - A7
Exom at o Exa0T a1 ™ . Ao o
w2 A
o< sz ]
83z s s
& A3 4
Paav ov
| e vss
3l aoutt
§ a0
| sa H M558 X NOROS0Z.001X
a0 . ———
pACicS
K710
oAcek [0
=
| | aouT2
| DAC2CS
| 8 |8
| iz =
55 °3 EEEOEREEEDEREE BN ) D m—
| ] [ R S AR ]
ass
3
3 -
= Liss =0 - 465 piscser
n Kiss — o DracsTe e oiscsTe
— PoSMON
g POSMDN
% FoLocK
4 FOATA
8 PoSMUP
: g POSMUP
H I wrce
§ g (a5t Tl
g wast MNI01CE1GNW MTOR wrop
NAX0248.001X sTeDsw.
STEDSW
STEDSW MECHA CONTROLLER jy— MIOPSW
cusws
CLSHTS
cuswra
3 TPzt aLsWT4
g cuswra
3 cLsars cuswrz
g 1 Xz cLswT2
& uswrr
£ X0 CLSWT1,
g 1 2 4E) op STSTSW —
3 sz
8 DISPS20 -
DisPozs_100
DISPD2S EPD0
DiseoK 5
DISPGK -] » EPDI R (o2
BEExy d BB 'l 0¥ 8 BROSLSGRFV-W-X
SES Lnsw ol 8 g
= abo &£824 gdoE ol
g e e o PR - - -
g FiZziiid L———EOROACRERAREE@EREEEE
T Jem ;
1 b}
H 1 Voo 5 a5 5|8
= cLswre & . it Il
a 58], e
= cLswrt 122152
4 HHEEH a
= cuswrs 2 3 8
5 4 g 5 —
= stsTsw 3 3
= wToPSW
et Tese T
i o ., :
=k, eV ol L2 108
H Ress
1 ol ju
= PoSHUP 108
— wMTOP. 5|5|=
1 28|38 8 8
ool POSMON 898 8 g e
feat ) oL
(LSO
| y383



1c704
VT-X

AKE357!
or AKSISTETX 1016 _py o706

3]
| s 38l
=
A0 =
s Yy 2
Ao — a0 T 2
i N oroe ©@—b .
AKABBAETX 3 7
or AKisBNTX K748 0 5
e = <
8 [swuge | ka0 =i T
ESe — [}
HE e g m
518 EER
s
o
a9 | o
I
-
e
e
AKATBAETX
or AT
2x B
S
R708 a7 ce i
=
wos_an0 =
e P arovez oo =
o i 2
|
s a0 5
=
EEX
P 11
i .
=
EE— 2
e oz = -
(o ks == :
i Corv wizs —w =
SlE Track ki —w -
I i T
o sssessa B m
= | = CO000OCO &5 m
c8
oiseast T 1w m
sy T o ] 1
asor | | [osros T o = 2]
oseor . =
oispozs o =
= o =
sv oo ooy ey | wev o =
= Noroozzaoex =
2! T 12
i o ©
o W
5 s © 5
£ T2 }—g
o7 ©——— o]
. 7]
S [pAciouT e R —
I =
orczour [T —y = EY
=
andined oo s © =
sty [oa]
orcsour S =
=
osciour O a— =
I

%

TP750
TP782
P74
Te7S6
Te7S8

[ Lva10543-101A |

NOTES

1. VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER WITHOUT INPUT SIGNAL
CONDITION D disc in the Tray 1.and STOP mode

2. UNLESS OTHERWISE SPECIFIED.
RESISTORS ARE 1/1BW 5% METAL GLAZE RESISTOR. DR 0.5% METAL GLAZE RESISTOR
ALL CAPACITORS APE 50V. 25V. 16V. 10V or 6.3V CERAMIC CAPACITOR.
ALL RESISTANCE VALUES ARE IN OHM(g].
ALL CAPACITANCE VALUES ARE IN , F(p=pF).
ALL E-CAPACITORS ARE SHOWN IN THE FORM OF CAPACITANGE (xF) /RATED VOLTAGE [VI.
ALL INDUCTANCE VALUES ARE IN , H{m=mHl.

3. NI STANDS FOR NOT INSEATED PARTS.

4. DIGITAL TRANSISTOR

e i 8
-

AINR
ABv
AINL

2. To CN401

toow (SHEET 2)
LAMUTE (TUBUYAKI)

RAOUTL.
AGND

s To CN402
war (SHEET 2)

AGND
SWADUT
AGND

DISPRST
DISPBUSY
DIsPCs
DISPCK
DISPD2S
DISPSZD
B3.3v

™

Mav

To CN403
(SHEET 2)

DGND
DAC30UT
DENDIVEND )
DACSOUT

DGND
DAC10UT

SHEET 7

2-16



B DVD changer mechanism section

POSITION
MOTOR DRIVER
IC2 LB1641

TRAY OPEN SW
QSWQand-002

[%) 4]
5 5
5 <
< 5
(V) [a)
o o
) @
2a PG
oo oo
SW. GND AIW —IW 0.0V SW.GND
M. TR_QP - \i 0.ov M.TR_OP
TR5_CL ‘éﬂ o.ov  TR5_CL

Gjoo TRS.CL.
TR4_CL

TR4_CL

& & & & & 0.0v
2 oo TRe L
Ll - L - L] =i - — TR3_CL ‘ 0.0V TR3_CL
n |8 x [8x |81 |8 @ |8 Vo ° °I" v TRe_CL
O ds Co s Crldls Cuds oA ——:444{6 ‘64444444444147
_ < < | | 3 TR1_CL o.ov  TR1_CL
O3\ o2\ 2 2=\ 2 =\ o =\ = 444:44444,;1J 41}4;444444:44, <
ny\e “ay\e “awa\le “ale “@a\e - =
19 z < = o > o = < = ‘ a9
~ &= 18> 6> &>~ |8 5|8
< < < < < | | 2|
T T T R R Q2
o o o o o) e
LOI ﬁ“ (')‘ C\l‘ v_I
= = = = =
Cc7
[
0.1/50
M2
OV
QRA0164-001
POSITION MOTOR
|LVA10519*A2
Ed =
NOTES

1. VOLTAGES ARE DC—MEASURED WITH A DIGITAL VOLT METER.

CONDITION:DISC1 STOP

2. UNLESS OTHERWISE SPECIFIED.
ALL CAPACITORS ARE SHOWN IN THE FORM OF CAPACITANCE( # F)/RATED VOLTAGEI(V].

3.NI STANDS FOH NOT INSERTED PARTS.



N

| R1  QVY0027-B14 |

vec TP5JIRED BU3. 3V 3.3v ! g N~

|_

10k @ SENSOR TP4_YELLOW L. SENSOR 1.3V = E L
|

sno TP3 BLACK D. GND 0.0V O T

3 |9 %)

w2
POSITION SENSOR | LVA10519*A4| WJMO0331-001A

=
i |
o<
sw TP2lgeo S.TAEND 0.0v— 2+
1| > W
oo TP1_BLACK D. GND o.ov} ouw
2 T
W1 |2 [
SuUB THAY END SW LVA10519-A3 WJMO0330-002A =~
—
-
©
TRAY -
VEH MOTOR DRIVER §
1 IC1 LB1641 —L
z0
[$)e)
TR3_CL o.ovE
TR2_CL o.ovj
TR4_CL o.ovg
TR1_CL 3.3VE
TR5_CL o.ovi
S.TR_ST 3.3V —| —
MTR.OP a2 ©
TR . S q_m
M. GND o.ov— Z 1
18191
M. GND 0.0V~ =3
- e BYOrav 8 U8 0V
~ 8vVorgyv s‘ofs.ov?
':( o =} POS_UP 0.0V
o o ==0 - 4
- © o — (@] 8 TR_OP o.ov?
e : © - POS_DOWN o.0v/—
= TR_CL o.ovT
o
OI o
oo
=
C6
—e q b
0.1/50
M1
— +m —
--001 QRMmom
MOTOR TRAY MOTOR SUB THAY START SW
’l LVA10513- 01A1

SHEET 8

2-18



Lozaa

a ° N

B T 10zzs0t

L1228 Lozzo sozzo

. iecizer

0s/10°0

D)
zozzy 0229 251 80zZM
zi-ceisst
M Giza w5l

aotey

R3311
a70

R3411
a70

+
MVIE oy 1197661 €0 134 o 2 o 4l «
ey B LIOAILOZIVAN  os HEIERH

NEEERIR
I
soszy O off 9|2 a|%

T

cz2703
100/50

z12z0
Sy
LSS B0rE ML 05/ osiio
L1128 L0120 goizo
no~ms

53307
D3401

PhssiaaTz
D302

[rrossrorvor
lxrcasw/va;,

x

TC3875/YG/-X
TC3875/YG/

MNiczoz®

<subwoofer section>
B Amplifier section

R3312
10K

R3301
15K
R3401
15k

R3111
a7o

R3211
a70

D3101
1Ss133-T2
D3102
18813312
D3201
03202
1SS133-T2

1ss133-T2
»

Pt

[ Rross7svor-

x

16301
RC4558D-X

KTC3875/YG/-

morn
ce

<

AW WA

zorza

1raw

R2721

p2703)
MTZi16C-TPT

27.3v|

ov

KTA1046/Y/

az70s

ci-cgpasy  wse
w1 Loozy o 800z
N ALt T
/o A/NOSLYL sizzo
5 570 ootvas I
i oo — —4
L09ZO T Mert, 0s/L'0  0s,
° 4 Li9zy 40920
H H 51/001 INAGL e lno—o
g 0020
& il =i 0s/dos v
o ] N 134" S oS/ -4
S 17 S dosdm NF 232z 1 e 2
gz 8§38 oo T8 §sd
8y o ¢ T b4
o0s/doot €19z Loozy
o0s/d001 oz Em_r v
i b =
005 338 Scoszo g
oL at 298 o §2a
&
vosZr, oEL Sordory
ee
o1/001 M
rd00L 005 +0ved
H N7 EE.47
ERe voven fms 1T oiv mwz
o N0 NzZ
N
T 4 T o+ g
2 o Lovzy
cirey 88 coveo :
$3
s3le, Lo, |88 88
88 23y
2228y g Le? 5
PTG ==
0 © (4 0
ann
X-/OAIVOSLYLN ME/L £ ¥
P ) =
RS AN ML 0sii0 0s/io no—s
g0 H
£° S0
L1528 ,06z0 soszO
Loszy +0S20 80sZY
z1-seisst
A Clovea ASt
govzy 1LY
> L Sngeoreu ik oso osio
wA : Lovzo —+—
Te| SfEF T e 2w Livzy sovzo sovzo
Sk -
B H X IORIFOSLVIN ol peuNn =
< 5§
b3 ¢
N +ry
4 o0s/001 N
Soses
.
os/001 B+
Soszo

KTC3875/YG/-X

R3203
2.2k

R3201

cnz7a
QcB251001-14

! LT

(

(

(

alialialiEllE

CEHEEE

L

=pF)
ALL CAPACITORS ARE SHOWN IN THE FORM OF CAPACITANCE(uF)/RATED VOLTAGE(V)

ALL RESISTANCE VALUES ARE IN OHMS
ALL CAPACITANCE VALUES ARE IN 4F. (p

NOTES:UNLESS OTHERWISE SPECIFIED
ALL INDUCTANCE VALUES ARE IN H

HA-

HA+

e

o1sTNO
1o310Ma
ano uaMod
ano 3y
aneo uamod
1o ¥3IMOd

VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER WITHOUT INPUT SIGNAL

TO CN502
(SHEET 10)

2-19



D caor riarsiaso

0
w w w 3 o w w
I o2 2z 0z z % i oz oz 5 2 >
- - o ~ w < < 2 K 3 o ] o o
I I I I '3 I I = I I I I I I
0 0 0 0 o 0 0 o 0 0 0 0 0 0
DN—)——@ q c | eman
> 2 > 2 1 VERSION [12202/2302/2402[C2211/2311/241] G2212/2312/2a12] R2215/2315/2a15] G2213/2313/2a13] C2214/2314/2414
] B | i R RO
I
o o aw
N ner e
I
| -5 mARK -
i [ (o207 vooeL
LVA10569-A1 c6 JIC STK413-430 c7
o
21032 c220! lc230: 271 oTHER 7.5k
708 | ehes aaiiisls S - ornEr | strata-soo
R2%8s g8 BAA p.on ® & EN_sw
56K A lc230$0.22 SR O SL
:
R < . p f
vy ige | B2e is. A\ Parts are safety assurance parts.
2 el 4 4 © k) : Wh I h k
é RN
L83 § e <o| 318 3% ox com en replacing those parts make
4 oy 9% fug; 90 8 5o e
- - ©° NG o |+- o+] oZ h f d
S 2) § | 8 210p 08 o0y [r3sb} 23 sure to use the specified one.
a7 | oz */\\/ Y M\ % B N
8 8| & < on o £A I -
;llig—msv ¥ 2l LB g 30
w2E s EERR T o c2aods o S8 ] o
§SEOS IRI9NSTZ cziee 2 o SSNEHC 3z
87 L2PET07 oumne T1H b R 256 1s coeny 02
S I i~ 2 L e 8 8
IR o - < b 1 o a0
<1 B2 It g 2 2 1o 23" 3 N 4 N N
2 L § O75 OU 8% uz R2azz ©ZAET 1] sL_out
N & A N 2 NI 1
- [zz 0 o o < eSS 2| sP_cND
- 253 < o R2421 N Ny
st 9se 5| sr_out
° . h N [y
N o
gI AN Ak UIC
S
S8 238 852838 | 5|eLe
e Pl NS a>e R
§T2 § ¥R 318T:
= z
o 5 5 Z‘ =
N 0 ['4
5 j : -
B
|
) ) c2212) ) C221Y UNP‘H‘j = FLouT
M 1/aw O
4 L2302, C2313 C2314
N [ I AU U ®
5
“+ uuuzw C2613 C2614 O
0
° @ ©2612, 1 C2611 ) UNFR2615
) reour
A L i ®
w
L 1 ®
5
3311 3l oz x| 3| 3 s RY273
e el el g g g e w2020 c2a1s czans
M— D O U S ®
< o <7 = D N 174w =
I999:7q 09— - ©
38l og 3§l 2 GSK0127-001
| ¢l % €| @ [}
-
o 5
i e
B i
NI )
o
—

cN272
@GB251011-09

B i

H271
NADG025-103X
1ok
cn271
"N—‘ —‘ QGB251041-14

sw_sic |8

sw_sic

TO CN372
(SHEET 10)

K
B

=

sP_GND_c

ssseTup

SP_GND_R

SP_GND_SR
SP_GND_SL

TO CN501
(SHEET 10)

SHEET 9

2-20



Bl Mother section
TO CN272

‘ LOW VOLTEAGE DETE

PROTECTOR

- | oo T fep— 5o Sen P w o
. ! e sieu | < gosed ¢ .
0@ | H wano | | o - S
HE | 38T+ o || Y
HE ! 3
c|& T ot len €000 N
< [ 3 N
HE § 43 v i T <7y3
HE 3 | ge— Ry
H 1 256 ey et
= | Bxrs3lsx VAWN—t
o~ <t oSN .
ziveisst s Sosu
———TgElestl [AR<E-2 zi-ceiss zi-ceisst
. < €
szizv Tbzze W vsa Wssa
4, si-ceiss) zi-ceisst
4 ovo0s Ix30x € €
L S N AR = o
ziseisst
8z HE a3 3 3 2
< 838 e
- & cigeisst
’ S Wsvsa
@ zi-ceLss zi-ceises
4 <
y 55
Ziceisss
550
58
a s
z - zi-seisst
~ SRS
N <
<
- x
+— ] [
Yo - 2
6294 B
of
Z H
63
4
L
N
g
=Sy A
HOLSINYIHL g %3 p—=292 z1-ooerzim
g< iso )
. §
E]
H
>
€ 8
> 83 soL
o 32 M\ ——yg
<3 N ty ==
3¢ 5 azz 3 +
8o a
o eesy S/L Y
> > oa
[ HEN G
coou
’ X
o w01 X
5 zoou  voowu L0
sk 8 b2
: ga °¢
a2 zi-eersst ¥ X
> 0
4
3 oisa 0 2
xsscost 8 ;&
%Tn . O
S :
e
B2\ o
AN 2084
i
| A
<
T ¢ %i-eeisst
B Tl 0s/10°0 90250 N H
N 838 ——|—1¢ | 335 . 3
fxs Ise B8 087100 bosco z 3 S !
5-ano~as 22> 225 o > T ! 4o 4
Bl tE 3
s o - 8
ni3sss o 5
— N <9
- Efd Se
As+[Lr ar oLeey ©
NS [ S fo &
an 8 Lo 3
84 ¥
M war [5] a; i 4 3
L ¢ ]s i .
omam H g0 30
0 s ] 85 W <oyamzan von
T = ¢ 2 3 s
S * o
%) S w
m [ T ) 41
““anoas x st §vi .
e 8 IS0 83
rsanoras 7] 9 J 3 §¢
wane as -
us~ano"us H Tt g
o o S b
4 ¢ mt
¢ 8T8 N2
s
Ox-sroLva
NG & roso
EI 5 P -
8
50
83 = L
H 85 g8 23, 58
o o8 830 38
<] © 03 ¢y~ 03
s 3

(SHEET 9)

[POWER CONTROL & PROTECTOR]|

2-21



FAN MOTOR

QAR0318-001

VERSION

A : AUSTRALIA

B : GREAT BRITAIN

C : CANADA

E : GERMANY/FRANCE/HOLLAND

EN: SWEDEN/NORWAY/FINLAND/DENMARK

EE: RUSSIA
EV: EAST EUROPE

US: SINGAPOLE

UB: HONG KONG

UP: KOREA

UF: CHINA

UX: SAUDI ARABIA

UW: BRAZIL/MEXICO/PERU
UJ: USA MILITARY BASE

Ns7iGGAZE01GT 08
J:US.A UG: TURKY/EGYPT/SOUTH AFRICA
FAN MOTOR UT: TAIWAN
bazos s5.1v
15813572
& » NOTES:UNLESS OTHERWISE SPECIFIED
H ) Do
3715 ALL RESISTANCE VALUES ARE IN OHMS
100/16 as70sTov
B x o Lrrcioas ALL INDUCTANCE VALUES ARE IN H
bazor | T ovig x| 2y ALL CAPACITANCE VALUES ARE IN ¢F.(p=pF)
Rre728 gsloe
a Y ALL CAPACITORS ARE SHOWN IN THE FORM OF CAPACITANNGE (UF)/RATED VOLTAGE (V)
ss13aT2 100 oW/ §
GSER S 55] Jthe VOLTAGES ARE DC-MEASURED WITH A DIGITAL VOLT METER WITHOUT INPUT SIGNAL
2ol NSY aarod £E | 2S
AST S o 19 5
2 Sl 58
: -3 MARK
mobEL | ciet/ciez| Reoz 164
Ga o
. g R
2 MARK C6 J/C 4700/50 3.3k MTZJ6.28-T2 4 MARK
&y
MODEL D561 D562 R4 e MODEL D3703
&y No USsE SLR-aszmo-T12 yrrasix as00rs0 | aok | mTzus.ze-T2 Wrex, | mrzarzoTa
ST - - OWRIGS Y : WSS oy -
otHER |str-asamo-Tiz o usE otHER ssoosso | 2.7k | mMTzus2ATZ orhER MTzZot1GT2
onaTa
acazsorci-dz
5 [iaiosesas
g
BV_REG I
Lisz H
kie1 ose1 Ds62
is2 - A
=0 VA (OG
arsz ~
kr 6% A o
sav__ 13 pygRzes N ol S LA
T | FEhs @ ®
-7V_REG.| |7V_REG ° UNE H R TER Q)
JH I = = ¢ 5.7V H H
5 b b
D163 - 2
o lee A 2% o |
—o— . o |8 |fm o, o : | ——
e G s
)5 @8el0 I+ Logs s N e csoz
8o W28<.N dn K2 =28 5y AW s
EF> 2 0 oMoy SE © 3
T8 38 egte H o164 E
|~ S EE 1 2 w3 0.01/50 Epson
s ofleefk cs91
Re23 H 2 H > QNzo0136-0012
o —
sovm |
nez CcNSs02
| acezsioKz 14
l T rowereno 0 @
N 4 Lo
o R 3] rrecno
3 L T rowerono N
3 Slerorecr 2 LU
3
g [ ronse (W
17:4 e I
{s] 0w
- [
—
19
1] evn
JE
ﬁpj
3 vn
{4
goe
RPN
2l
D 4
@
H
B -1 mARK
. 4 VERSION [ o1 FroT [ Fioz [FisaFisa D191 ex
H s e Gatosszoo1| saizev | | toarzsv A
a © |2 E/EN/EE/EV H
§ E/ENEE/EY aaTossz00z| TatsAL | o | TeAL 8
o - 13
g UTes/9% |aaTossz-00s Te.saL  [raisac| Teal I
3]
]
a

D151
}sauen
|

cisT cis2

$—r| —

ciea

B
Foi02

cnt01
QcA7901C1-02

cntoz
QcA7901C1-02

ciea

Vi

v

Ris2

¢
D154 2 2K
18S185T2

RS54

asaz
KTCa878/YGI-X

Rose 22K
RE50 22k
RS60 22K
R561 8.2k
Rs6a22K
R562 30K

AGE DETECTOR

L
Hs181
Qzwo13e-001

A\ Parts are safety assurance parts.
When replacing those parts make
sure to use the specified one.

cNtoa
QGE3901A2-03

o103
GGE3801A2-07

SHEET 10

2-22



Printed circuit boards

<Main body section>
B Main board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade) |

S 1, ezl
]

g Elale| 8 -ﬂ‘\_ﬂ t [ 9 D
S R B HEB:!:I’_ £=
I T e C;F“?! : 2
= el P oL
i L

oo

o | Ll ok
b1 S S

V- /_: [ I::}:UE“{TL [::--‘ag_-‘j .;_1_: '
5§ WUEI S = ot

- o Q‘-JUUM:___.{('HP:“
%L;[;]I h ik

R

cili
i s

NN

Negd)l

L | ' 9——’ S _4.
I r=i_‘l7L “ j [g:jllﬁig)/\]?& " »
== alEEE
5 DY) RS

el
]
IT

2-23



(Power supply board)

(Phone jack board)

Vo

2-24



B Front board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)|

(Front board)

=

@@ ©80000006000000686

(Operation board)

(Power key board)

2-25



B Audio board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade) |

(Audio & Digital |nput board)

it Sl
4 //))JJJIII[((((
I|Il[[ffn||||||

mnlln

jatl D 01((
//5;/1/ ) @II I

=

—G% 11(1) U;j_tn.

2-26



B DVD servo board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)|

Forward side

(N

I

1

I

]
L/ j; =
B10543-001B11 :g:

%

©

J

.

i

: i
A

2-27



B Loading board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)|

(Motor board)

(Tray switch board) (Switch board) (Sensor board)

2-28



<Subwoofer section>
[ ] Amp board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)|

(Amp board)

2-29



2-30



2-31

B Mother board |Lead free solder used in the board (material : Sn-Ag-Cu, melting point : 219 Centigrade)|

(Mother board)

CN502 L

O
PRTCT
PON
+VL
VL
+VH
-VH
O
O
O

R560

G -ub NI il

2 He, &
.- “;‘— g'1/“_, 5 2 I Ao
&

OPWR‘CTL

C182,
7

c163

&

161

c162

“ho
151 R152

C157 G159,
D152

2 2
g
155 3
) AN a
154 G 4
D151 ~ /
HS151
'-‘ 4

t R553

1523
€522

- .\
FC157 Rs34

D153




(LED board)

2-32



Victor Company of Japan, Limited
AV & MULTIMEDIA COMPANY AUDIO/VIDEO SYSTEMS CATEGORY 10-1,1chome,Ohwatari-machi,Maebashi-city,371-8543,Japan

Printed in Japan
(No.MB380SCH) VPT



PARTS LIST

[ TH-C4 ]

* All printed circuit boards and its assemblies are not available as service parts.

Area suffix
J USA |
C Canada ;
- Contents -
Exploded view of general assembly and parts list (Block NO.M1) --------veemuenene 3-2
Speaker assembly and parts list(Subwoofer) (Block NO.M2) ----------nmvemcannannes 3-5
DVD mechanism assembly and parts list (Block NO.MJ) -------erumrmmmmmimnanannnn. 3-7
DVD changer mechanism assembly and parts list (Block No.MK) ----------------- 3-9
Electrical parts list (BIOCK N0O.O1~06) ------=s=rermsmsmmmareemnnecneecceeee 3-11
Packing materials and accessories parts list (Block NO.M3) --------uremmmmmnnnaane. 3-22

No.MB380

3-1



Exploded view of general assembly and parts list

Block No. [M]

/

\ ©
A
/ @» @
Q o =
g  fo
, /&Y
A/
2 @ 2
© g1y
o =,
2 e,
c AV
kel

—/ O 8
{8 Vo
\\\\\\|\
QY

7
CE

< )
AN

3-2



3-3



General Assembly

Block No. [M][1][M][M]

A Symbol No. Part No. Part Name Description Local
1 GV10233-001A FRONT PANEL ASSY
2 GV20310-001A FRONT LENS
3 GV30641-003A VOLUME RING
4 QYSDSF2608ZA TAP SCREW M2.6 x 8mm
5 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
6 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x4)
7 LV42851-006A FL SCREEN
8 GV20312-001A BUTTON(TOP)
9 QYSDSF2612ZA TAP SCREW M2.6 x 12mm(x3)
10 GV40035-002A SCREW
1 GV30643-003A BTN(POWER)ASSY
12 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
13 GV20313-001A DVD DOOR
14 GV20314-010A DOOR LENS
15 GV30646-001A ILLUMILENS
16 GV30647-003A ORNAMENT(DOOR)
17 GV20315-001A DOOR HOLDER
18 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x4)
19 LV41694-001A DOOR BKT(L)
20 LV41695-001A DOOR BKT(R)
21 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
22 GV40558-001A DOOR SPRING(L)
23 GV40605-001A DOOR SPRING(R)
24 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
25 E69897-002 CUSHION (x4)
26 GV30736-003A VOL.KNOB ASSY
27 LV10770-004A BOTTOM CHASSIS
28 LV40301-002A FELT SPACER (x2)
29 QYSDST3006ZA TAP SCREW M3 x 6mm(x3)
30 QYSDST3006ZA TAP SCREW M3 x 6mm(x4)
31 QYSBST3008ZA TAP SCREW M3 x 8mm(x2)
32 QYSBST3008ZA TAP SCREW M3 x 8mm
33 QYSDST3006ZA TAP SCREW M3 x 6mm(x3)
34 QYSDST3006ZA TAP SCREW M3 x 6mm
35 QYSDST3006ZA TAP SCREW M3 x 6mm(x2)
36 LV41548-001A-NK C.BBKT (x2)
37 LV30225-0T7A SPACER
38 LV30225-0T8A SPACER
39 GV20316-017A REAR PANEL
40 QYSBSGY3008MA TAP SCREW M3 x 8mm(x3)
41 QYSBSGY3008MA TAP SCREW M3 x 8mm(x2)
42 QYSBSGY3008MA TAP SCREW M3 x 8mm
43 QYSBSGY3008MA TAP SCREW M3 x 8mm(x2)
44 QYSBST3006MA TAP SCREW M3 x 6mm
45 QYSBSGY3008MA TAP SCREW M3 x 8mm
46 QYSBSGY3008MA TAP SCREW M3 x 8mm
47 QYSBSGY3008MA TAP SCREW M3 x 8mm
48 QYSBSGY3008MA TAP SCREW M3 x 8mm
49 QYSBSGY3008MA TAP SCREW M3 x 8mm
50 QYSBSGY3008MA TAP SCREW M3 x 8mm
51 QAU0307-003 TUNER
52 GV10235-001A/S/ METAL COVER
53 QYSDSG3006NA TAP SCREW M3 x 6mm(x4)
54 LV41843-002A LASER CAUTION

A 55 QMF51U1-1R6-J8 FUSE 1.6A AC125V
56 QYSBSE3008ZA TAP SCREW M3 x 8mm
57 LV30225-0M9A SPACER (x2)
58 GV40557-001A LED HOLDER
59 QUQH10-3112AJ-E FFC WIRE 31pin 12cm
60 QUQH10-0714AJ-E FFC WIRE 7pin 14cm
61 QUQH12-1320BJ-E FFC WIRE 13pin 20cm
62 QUQH12-1107AJ-E FFC WIRE 11pin 7cm
63 QUQH12-0512AJ-E FFC WIRE 5pin 12cm
64 QUQH10-0817AJ-E FFC WIRE 8pin 17cm
65 QUQH10-1017AJ-E FFC WIRE 10pin 17cm
66 QUQH10-2817AJ-E FFC WIRE 28pin 17cm



Speaker assembly and parts list

Block No. M|

(Subwoofer)

Amp. board

The parts without symbol number are not service.

3-5



Speaker(Subwoofer)

Block No. [M][2][M][M]

A Symbol No. Part No. Part Name Description Local
1 LV10875-002A CHASSIS BASE
2 LV30225-0T5A SPACER
3 LV30225-0T6A SPACER
4 LV10951-001A HEAT SINK
5 QYSBSG3010EA TAP SCREW M3 x 10mm(x3)
6 QYSBSG3016EA TAP SCREW M3 x 16mm(x4)
7 QYSBSG3010EA TAP SCREW M3 x 10mm(x9)
A8 QQT0482-001 POWER TRANSF
9 LV44309-001A BARRIER
10 QYSDSTL4008EA TAP SCREW M4 x 8mm(x4)
1 LV43692-002A LED HOLDER
12 QYSBSG3010EA TAP SCREW M3 x 10mm(x2)
13 LV34712-001A HEAT SINK BKT (x2)
14 QYSBSG3010EA TAP SCREW M3 x 10mm(x2)
15 QYSBSG3010EA TAP SCREW M3 x 10mm(x4)
16 QYSBSG3006ZA TAP SCREW M3 x 6mm(x2)
17 LV21652-020A REAR PANEL
18 QAR0318-001 FAN MOTOR
19 LV30225-0D5A SPACER (x2)
20 QYSBSGY3008MA TAP SCREW M3 x 8mm(x2)
21 QYSBSGY3008MA TAP SCREW M3 x 8mm(x2)
22 QYSBSGY3008MA TAP SCREW M3 x 8mm(x4)
23 QYSBST3006MA TAP SCREW M3 x 6mm
A 24 QZW0033-001 STRAIN RELIEF
AN 25 QMPD380-200-JN POWER CORD(US/CA) 2m BLACK
A 26 QMF51U1-8R0-J8 FUSE F101  8AAC125V
AN 27 QMF51U1-100-J8 FUSE F153 F154 10A AC125V(x2)
28 QYSDSA4016MA TAP SCREW M4 x 16mm(x2)
29 QYSDST4014MA TAP SCREW M4 x 14mm(x8)
30 LV43835-001A EMC LABEL
31 LV35763-003A RATING LABEL
32 QYSPSPD3008ZA SCREW M3 x 8mm(x2)
33 LE10016-063A CONE SPK
34 7001541606 TAPPING SCREW (x4)
35 9916013201 NET ASSY
36 9000007961 FOOT (x4)
37 QAS0301-001 SPEAKER BOX



Block No.

FXL-D8-1M

Grease

=JVG-31N

*
|

JVS-1003

DVD mechanism assembly and parts list

2.4mm * 0.1mm

TN

T

T

Letter side

APPLY AREA

Letter side

7.0mm t 0.1mm

-

Reverse side

=

—~—
>/f

NN\

NN YA TP/

NS

0
]

g/
.q\

/)

=74

(

P

4

The parts without symbol number are not service.

3-7



DVD mechanism

Block No. [M][JIIM][M]

A Symbol No. Part No. Part Name Description Local
1 LV10985-001A C.TM CHASSIS
2 QARO0334-002 S.MOTOR
3 QYSPSPU1740ZA SCREW M1.7 x 4mm(x3)
4 QAR0144-003 MOTOR
5 VKS5557-001 F.M. GEAR
6 QYSPSPT2025ZA SCREW M2 x 2.5mm
7 LV35461-002A MIDDLE GEAR
8 LV44040-001A SCREW SHAFT
9 LV35462-001A SCREW SHAFT GEA
10 QALO0667-001 DVD PICK
1 LV21869-001A RACK ARM
12 LV35463-001A RACK ARM SPRING
13 QYSPSFU1740ZA TAP SCREW M1.7 x 4mm(x2)
14 LV44041-001A GUIDE SHAFT (x2)
15 LV35464-001A G.SHAFT ADJ.SP
16 QYSDSF2005ZA TAP SCREW M2 x 5mm
17 LV35465-001A THRUST SPRING
18 LV44042-001A ROD SPRING
19 LV35467-001A FEED BRACKET
20 QYSDSF2005ZA TAP SCREW M2 x 5mm
21 LV44046-001A ADJUST SCREW (x4)



DVD changer mechanism assembly and parts list

Block No. M]

FMU-SM1-1M

CH5-BASE-1M

7/
/
/
7/
7/

The parts without symbol number are not service.

JVG-31N
JVS-1003

Grease
*
A

3-9



DVD changer mechanism

Block No. [M][K][M][M]

A Symbol No. Part No. Part Name Description Local

1 LV10913-004A LOADER ASSY

2 QVY0027-B14 S VRESISTOR

3 QYSDST2004ZA TAP SCREW M2 x 4mm

4 QAR0164-001 MOTOR (x2)

5 LV42340-001A MOTOR PULLEY (x2)

6 LV41431-002A BELT (x2)

7 QYSPSPU1725NA SCREW M1.7 x 2.5mm(x2)
8 LV33965-004A LIFTER ASSY

9 LV33963-001A HOOK

10 LV33964-002A HOOK STOPPER

1 LV43285-001A ROD (L)

12 LV21408-002A RAIL(R)

13 LV21409-002A RAIL(L)

14 LV21520-004A SIDE(R) ASSY

15 LV33974-002A SELECT LEVER

16 LV33977-002A CLICK SPRING

17 LV33975-001A GEAR COVER

18 LV33976-002A ELEVATOR CAM

19 LV43287-001A ELEVATOR SPRING
20 QYSDST2605ZA TAP SCREW M2.6 x 5mm(x3)
21 LV10749-002A SIDE(L)
22 LV33980-002A OPEN DET.LEVER
23 QYSDST2605ZA TAP SCREW M2.6 x 5mm(x2)
24 LV10746-006A TRAY ASSY (x5)
25 LV10750-003A TOP COVER
26 LV43289-003A ROD (x2)
27 QYSDSF2608ZA TAP SCREW M2.6 x 8mm(x2)
28 QYSDST2605ZA TAP SCREW M2.6 x 5mm(x2)
29 QYSDSF2608ZA TAP SCREW M2.6 x 8mm

30 QYSDST2605ZA TAP SCREW M2.6 x 5mm
31 QYSDST2004ZA TAP SCREW M2 x 4mm
32 WJM0330-002A-E E-SI C WIRE C-F
33 WJMO0331-001A-E E-SI C WIRE C-F
34 LV32417-001A CLAMPER

35 LV42930-003A P.C.MAGNET
36 LV33992-001A DVD YOKE

37 LV41741-003A SPECIAL SCREW
38 QUQ110-1508BJ FFC WIRE 15pin 8cm
39 LV44043-002A INSULATOR (x2)
40 LV44043-003A INSULATOR (x2)
41 LV44045-001A SPECIAL SCREW (x4)
42 LV44092-002A PICK FFC
43 LV10986-001A TRAMECHA HOLDER
44 QYSDST2605ZA TAP SCREW M2.6 x 5mm(x3)
45 LV44209-001A WASHER SCREW (x2)
46 0 e DVD TRAMECHA
47 QYSDST2605ZA SCREW M2.6 x 5 mm



Electrical parts list
Main board

Block No. [0][1]

A\ SymbolNo.  Part No. Part Name Description Local
1C411 MM1233XF-X IC
1C431 BH7868FS-X IC
1C471 MN101C49GFW IC
1C472 S-80840CNNB-G-W  IC
1C473 SN74HCT32NS-X IC(DIGITAL)
IC475 RC4558D-X IC
IC476 RC4558D-X IC
IC477 BR24L08F-W-X IC(DIGITAL)
IC478 RC4558D-X IC
1C491 KIA7805API IC
1C601 RC4558D-X IC
A1C901 STR-G6651 IC
1C951 PQO5RD21SSJH IC
Q951 28C3576-JVC-T TRANSISTOR
Q953 KTA1267/YG/-T TRANSISTOR
Q954 S12305DS-X TRANSISTOR
Q955 KRC103S-X DIGITAL TR
Q958 KTA1271/0Y/-T TRANSISTOR
Q959 KRC103S-X DIGITAL TR
Q960 KTA1504/YG/-X SI TRANSISTOR
Q961 KTC3203/0Y/-T TRANSISTOR
Q991 KTC3875/YG/-X SI TRANSISTOR
Q4091 KTA1271/0Y/-T TRANSISTOR
Q4092 KTC3875/YG/-X SI TRANSISTOR
Q4701 KRC1118-X TRANSISTOR
Q4702 KRC107S-X DIGI TRANSISTOR
Q4703 KRC102S-X DIGI TRANSISTOR
Q4801 KTA1504/YG/-X SI TRANSISTOR
Q4802 KRC102S-X DIGI TRANSISTOR
Q4811 KRA1028-X DIGI TRANSISTOR
Q4812 KRC1028-X DIGI TRANSISTOR
Q4821 KRC102S-X DIGI TRANSISTOR
Q4831 KRC102S-X DIGI TRANSISTOR
Q4832 KRA110S-X TRANSISTOR
Q4833 KRC110S-X DIGI TRANSISTOR
Q4921 KTC3203/0Y/-T TRANSISTOR
Q4931 KTA1271/0Y/-T TRANSISTOR
Q4954 2SA1362/G/-X TRANSISTOR
Q4955 KRC102S-X DIGI TRANSISTOR
Q4961 KTC3203/0Y/-T TRANSISTOR
Q4971 2SC3661-X TRANSISTOR
Q4972 28C3661-X TRANSISTOR
Q4973 KRA104S-X DIGI TRANSISTOR
A\DI01 DI106 BRIDGE DIODE
D902 10ERB40-T1 FR DIODE
D903 10ERB40-T1 FR DIODE
D904 10ERB40-T1 FR DIODE
D908 10ERB40-T1 FR DIODE
D910 10ERB40-T1 FR DIODE
D911 FR104S-T5 FR DIODE
D950 MTZJ22C-T2 Z DIODE
D951 FR104S-T5 FR DIODE
D952 FR104S-T5 FR DIODE
A\D953 SB340-F82 FUSEIODE
A\ D954 10ERB40-T1 FR DIODE
A\ D956 FR104S-T5 FR DIODE
AD957 FR104S-T5 FR DIODE
D958 1S8133-T2 SI DIODE
D960 MTZJ2.2A-T2 S.B.DIODE
A\DI70 ER204-F33 FR DIODE
D991 MTZJ5.1C-T2 Z DIODE
A\ D999 1N4003S-T5 SI DIODE
D4091 1S8133-T2 SI DIODE
D4092 MTZJ6.8A-T2 Z DIODE
D4703 MTZJ4.7B-T2 Z DIODE
D4704 188133-T2 SI DIODE
D4705 188133-T2 SI DIODE
D4706 1S8133-T2 SI DIODE
D4707 188133-T2 SI DIODE
D4708 1S8133-T2 SI DIODE

A\ SymbolNo.  Part No. Part Name Description Local
D4709 18S133-T2 S| DIODE
D4811 18S133-T2 S| DIODE
D4831 18S133-T2 S| DIODE
D4832 18S133-T2 S| DIODE
D4833 188133-T2 S| DIODE
D4834 18S133-T2 S| DIODE
D4835 MTZJ6.8A-T2 Z DIODE
D4841 MTZJ2.0A-T2 Z DIODE
D4842 MTZJ3.3A-T2 Z DIODE
D4891 MTZJ6.2C-T2 Z DIODE
D4921 MTZJ8.2C-T2 Z DIODE
D4922 188133-T2 S| DIODE
D4931 MTZJ8.2C-T2 Z DIODE
D4932 18S133-T2 S| DIODE
D4961 MTZJ4.7A-T2 Z DIODE
D4962 18S133-T2 S| DIODE
D4963 188133-T2 S| DIODE
APCI01 PC123Y22FZ PHOTO COUPLER
APC902 PC123Y22FZ PHOTO COUPLER
AC902 QFZ9075-683 MPP CAPACITOR  0.068uF AC275V M
A\ C904 QCZ9079-102 C CAPACITOR 1000pF AC250V M
A\ C905 QCZ9079-102 C CAPACITOR 1000pF AC250V M
AC907 QETM2DM-157 E CAPACITOR 150uF 200V M
€908 QCZz0136-332Z C CAPACITOR 3300pF 1kV K
C909 QCZz0136-101Z C CAPACITOR 100pF 1kV K
C910 QCBB1HK-221Y C CAPACITOR 220pF 50V K
C913 QCZ0136-101Z C CAPACITOR 100pF 1kV K
Co14 QEZ0532-396Z E CAPACITOR 39uF 25V M
C915 QCBB1HK-471Y C CAPACITOR 470pF 50V K
ACI16 QCZz9079-222 C CAPACITOR 2200pF AC250V M
Cao18 QCFB1HZ-104Y C CAPACITOR 0.1uF 50V Z
C951 NDC31HJ-101X C CAPACITOR 100pF 50V J
C952 QCZz0136-101Z C CAPACITOR 100pF 1kV K
C953 NDC31HJ-101X C CAPACITOR 100pF 50V J
C954 NDC31HJ-101X C CAPACITOR 100pF 50V J
C956 NDC31HJ-101X C CAPACITOR 100pF 50V J
C957 NDC31HJ-101X C CAPACITOR 100pF 50V J
C960 QEZ0529-826Z E CAPACITOR 82uF 10V M
C961 QCZ0202-155Z C CAPACITOR 1.5uF 25V Z
C962 QEKC1HM-226Z E CAPACITOR 22uF 50V M
C963 QEZ0533-396Z E CAPACITOR 39uF 50V M
C964 QETN1HM-226Z E CAPACITOR 22uF 50V M
C965 QEZ0528-108 E CAPACITOR 1000uF 10V M
C966 QETN1AM-477Z E CAPACITOR 470uF 10V M
C967 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C968 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C969 QETN1AM-227Z E CAPACITOR 220uF 10V M
Ca79 QEZ0530-827 E CAPACITOR 820uF 16V M
Co81 QCZz0202-155Z C CAPACITOR 1.5uF 25V Z
C982 QEZ0531-567 E CAPACITOR 560uF 25V M
C984 QEKC1CM-227Z E CAPACITOR 220uF 16V M
C985 QETN1EM-107Z E CAPACITOR 100uF 25V M
C986 QETN1EM-107Z E CAPACITOR 100uF 25V M
Co87 QEZ0532-187Z E CAPACITOR 180uF 25V M
C989 QEKC1CM-107Z E CAPACITOR 100uF 16V M
C992 QETN1HM-474Z E CAPACITOR 0.47uF 50V M
€993 NDC31HJ-101X C CAPACITOR 100pF 50V J
C994 QCBB1HK-223Y C CAPACITOR 0.022uF 50V K
C997 QETN1CM-2272 E CAPACITOR 220uF 16V M
C4006 QCZz0202-155Z C CAPACITOR 1.5uF 25V Z
C4011 NCB31HK-822X C CAPACITOR 8200pF 50V K
C4012 NCB31HK-822X C CAPACITOR 8200pF 50V K
C4091 QETN1HM-226Z E CAPACITOR 22uF 50V M
C4092 QETN1CM-107Z E CAPACITOR 100uF 16V M
C4101 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C4111 QFLC1HJ-103Z M CAPACITOR 0.01uF 50V J
C4121 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C4171 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C4172 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C4173 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C4191 QETN1VM-476Z E CAPACITOR 47uF 35V M
C4192 NCB31HK-103X C CAPACITOR 0.01uF 50V K
C4301 QETN1EM-476Z E CAPACITOR 47uF 25V M
C4311 NCB31HK-103X C CAPACITOR 0.01uF 50V K



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No. ~ Part No. Part Name Description Local
C4321 NCB30JK-105X C CAPACITOR 1uF 6.3VK C6603 QETN1HM-475Z E CAPACITOR 4.7TuF 50V M
C4331 NCB30JK-105X C CAPACITOR 1uF 6.3V K C6611 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C4341 NCB30JK-105X C CAPACITOR 1uF 6.3V K C6612 NDC31HJ-560X C CAPACITOR 56pF 50V J
C4351 NCB30JK-105X C CAPACITOR 1uF 6.3V K C6613 QETN1HM-475Z E CAPACITOR 4.7TuF 50V M
C4391 QETN1AM-477Z E CAPACITOR 470uF 10V M C6614 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C4392 NCB31CK-104X C CAPACITOR 0.1uF 16V K C6615 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C43% NCB31CK-104X C CAPACITOR 0.1uF 16V K C6616 NDC31HJ-560X C CAPACITOR 56pF 50V J
C4395 QETN1HM-226Z E CAPACITOR 22uF 50V M C6617 NCB31HK-471X C CAPACITOR 470pF 50V K
C4401 QETNOJM-477Z E CAPACITOR 470uF 6.3V M C6618 NCB31HK-471X C CAPACITOR 470pF 50V K
C4411 NCB31HK-103X C CAPACITOR 0.01uF 50V K C6901 QETN1VM-476Z E CAPACITOR 47uF 35V M
C4421 QETNOJM-477Z E CAPACITOR 470uF 6.3V M C6902 QETN1VM-476Z E CAPACITOR 47uF 35V M
C4431 QETNOJM-477Z E CAPACITOR 470uF 6.3V M
C4441 QETNOJM-477Z E CAPACITOR 470uF 6.3V M R901 QRLO1DJ-683X OMF RESISTOR 68kQ 1W J
C4451 QETNOJM-477Z E CAPACITOR 470uF 6.3V M R903 QRE141J-270Y C RESISTOR 271Q 1/4W J
C4605 NCB31HK-471X C CAPACITOR 470pF 50V K R904 QRE141J-222Y C RESISTOR 2.2kQ 1/4W J
C4606 NCB31HK-471X C CAPACITOR 470pF 50V K R905 QRL027J-683 OMF RESISTOR 68kQ 2W J
C4702 QETNOJM-227Z E CAPACITOR 220uF 6.3V M R906 QRJ146J-681X UNF CRESISTOR  680Q 1/4W J
C4703 QETN1HM-2252 E CAPACITOR 2.2uF 50V M R907 QRT027J-R47 MF RESISTOR 0.47Q2WJ
C4704 NCB31CK-223X C CAPACITOR 0.022uF 16V K R908 QRE141J-332Y C RESISTOR 3.3kQ 1/4W J
C4705 NCB31HK-103X C CAPACITOR 0.01uF 50V K R910 QRE141J-754Y C RESISTOR 750kQ 1/4W J
C4706 NCB31HK-103X C CAPACITOR 0.01uF 50V K R911 QRE141J-754Y C RESISTOR 750kQ 1/4W J
C4707 QETN1CM-107Z E CAPACITOR 100uF 16V M AR921 QRZ9037-335 COMP RESISTOR ~ 3.3MQ 12WK
C4708 NCB31HK-103X C CAPACITOR 0.01uF 50V K R951 QRE141J-150Y C RESISTOR 15Q 1/4W J
C4709 NCB31HK-103X C CAPACITOR 0.01uF 50V K R952 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C4710 NCB31HK-103X C CAPACITOR 0.01uF 50V K R953 NRSA02J-223X MG RESISTOR 22kQ 1/110W J
C4711 QETN1HM-106Z E CAPACITOR 10uF 50V M AR954 QRZ9005-100X FUSI RESISTOR 10Q
C4712 NCB31CK-104X C CAPACITOR 0.1uF 16V K R955 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C4713 NCB31CK-104X C CAPACITOR 0.1uF 16V K R960 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
C4714 NCB31CK-104X C CAPACITOR 0.1uF 16V K R961 NRSAB3J-681X MG RESISTOR 680Q 1/16W J
C4715 NCB31CK-104X C CAPACITOR 0.1uF 16V K R963 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
C4718 NCB31HK-103X C CAPACITOR 0.01uF 50V K R964 NRSAB3J-105X MG RESISTOR 1MQ 1/16W J
C4719 NCB31HK-103X C CAPACITOR 0.01uF 50V K R965 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C4720 NCB31CK-104X C CAPACITOR 0.1uF 16V K R966 NRSA02J-221X MG RESISTOR 220Q 1110W J
C4721 NCB31CK-104X C CAPACITOR 0.1uF 16V K R969 NRSA63J-221X MG RESISTOR 220Q 1/116W J
C4771 NCB31CK-104X C CAPACITOR 0.1uF 16V K R980 NRSAB3J-512X MG RESISTOR 5.1kQ 1/116W J
C4772 NCB31CK-104X C CAPACITOR 0.1uF 16V K R981 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C4773 NCB31CK-104X C CAPACITOR 0.1uF 16V K R983 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C4774 NCB31CK-104X C CAPACITOR 0.1uF 16V K R984 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
C4791 NCB31CK-104X C CAPACITOR 0.1uF 16V K R985 NRSA02J-132X MG RESISTOR 1.3kQ 1/10W J
C4801 QETN1HM-224Z E CAPACITOR 0.22uF 50V M R986 NRSA02J-152X MG RESISTOR 1.5kQ 1/10W J
C4891 NCB31HK-221X C CAPACITOR 220pF 50V K R987 NRSA02J-152X MG RESISTOR 1.5kQ 1/10W J
C4892 NCB31HK-221X C CAPACITOR 220pF 50V K R988 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
C4901 QETN1CM-107Z E CAPACITOR 100uF 16V M R989 NRSA63J-333X MG RESISTOR 33kQ 1/16W J
C4902 NCB31HK-103X C CAPACITOR 0.01uF 50V K R990 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J
C4903 QETN1CM-107Z E CAPACITOR 100uF 16V M R4011 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C4904 NCB31HK-103X C CAPACITOR 0.01uF 50V K R4012 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C4921 QETN1VM-476Z E CAPACITOR 47uF 35V M R4013 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
C4922 QETN1CM-107Z E CAPACITOR 100uF 16V M R4014 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
C4931 QETN1VM-476Z E CAPACITOR 47uF 35V M R4091 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J
C4932 QETN1CM-107Z E CAPACITOR 100uF 16V M R4092 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C4961 QETN1CM-107Z E CAPACITOR 100uF 16V M R4093 NRSA63J-821X MG RESISTOR 820Q 1/16W J
C6001 NCB31CK-223X C CAPACITOR 0.022uF 16V K R4101 NRSAB3J-750X MG RESISTOR 75Q 1/16W J
€6002 NCB31CK-223X C CAPACITOR 0.022uF 16V K R4111 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6003 NCB31CK-104X C CAPACITOR 0.1uF 16V K R4121 NRSAB3J-750X MG RESISTOR 75Q 1/16W J
C6004 NCB31HK-103X C CAPACITOR 0.01uF 50V K R4191 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C6101 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4201 NRSA63J-511X MG RESISTOR 510Q 1/16W J
C6102 NDC31HJ-101X C CAPACITOR 100pF 50V J R4202 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C6103 QETN1HM-476Z E CAPACITOR 47uF 50V M R4211 NRSA63J-561X MG RESISTOR 560Q 1/16W J
C6104 NCB31CK-104X C CAPACITOR 0.1uF 16V K R4212 NRSAB3J-561X MG RESISTOR 560Q 1/16W J
C6105 NCB31HK-103X C CAPACITOR 0.01uF 50V K R4231 NRSAB3J-511X MG RESISTOR 510Q 1/16W J
C6201 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4232 NRSA63J-331X MG RESISTOR 330Q 1/16W J
C6202 NDC31HJ-101X C CAPACITOR 100pF 50V J R4241 NRSAB3J-561X MG RESISTOR 560Q 1/16W J
C6203 QETN1HM-476Z E CAPACITOR 47uF 50V M R4242 NRSA63J-121X MG RESISTOR 120Q 1/16W J
C6204 NCB31CK-104X C CAPACITOR 0.1uF 16V K R4251 NRSAB3J-561X MG RESISTOR 560Q 1/16W J
C6205 NCB31HK-103X C CAPACITOR 0.01uF 50V K R4252 NRSA63J-121X MG RESISTOR 120Q 1/16W J
C6501 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4401 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6502 NCS31HJ-560X C CAPACITOR 56pF 50V J R4411 NRSAB3J-750X MG RESISTOR 75Q 1/16W J
C6503 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4421 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6511 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4431 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6512 NDC31HJ-560X C CAPACITOR 56pF 50V J R4441 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6513 QETN1HM-475Z2 E CAPACITOR 4.7uF 50V M R4451 NRSA63J-750X MG RESISTOR 75Q 1/16W J
C6514 NCB31CK-104X C CAPACITOR 0.1uF 16V K R4605 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
C6515 NCB31CK-104X C CAPACITOR 0.1uF 16V K R4606 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
C6516 NDC31HJ-560X C CAPACITOR 56pF 50V J R4703 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C6517 NCB31HK-471X C CAPACITOR 470pF 50V K R4704 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C6518 NCB31HK-471X C CAPACITOR 470pF 50V K R4705 NRSAB3J-472X MG RESISTOR 4.7kQ 1116W J
C6601 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R4706 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C6602 NDC31HJ-560X C CAPACITOR 56pF 50V J R4707 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J

3-12



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
R4708 QRE141J-221Y C RESISTOR 220Q 1/4W J R6106 QRE141J-330Y C RESISTOR 33Q 1/4W J
R4709 NRSA63J-101X MG RESISTOR 100Q 1/16W J R6107 QRE141J-390Y C RESISTOR 39Q 1/4W J
R4710 NRSA63J-104X MG RESISTOR 100kQ 1/16W J R6201 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R4711 NRSAB3J-331X MG RESISTOR 330Q 1/16W J R6202 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R4712 NRSA63J-331X MG RESISTOR 330Q 1/16W J R6203 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J
R4713 NRSA63J-331X MG RESISTOR 330Q 1/16W J R6205 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R4752 NRSA63J-273X MG RESISTOR 27kQ 1/16W J R6206 QRE141J-330Y C RESISTOR 33Q 1/4W J
R4753 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6207 QRE141J-390Y C RESISTOR 39Q 1/4W J
R4754 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6302 QRE141J-271Y C RESISTOR 270Q 1/4W J
R4755 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6303 QRE141J-271Y C RESISTOR 270Q 1/4W J
R4756 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6304 QRE141J-271Y C RESISTOR 270Q 1/4W J
R4757 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6305 QRE141J-271Y C RESISTOR 270Q 1/4W J
R4758 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6501 NRSAG3J-104X MG RESISTOR 100kQ 1/16W J
R4760 NRSAB3J-222X MG RESISTOR 2.2kQ 1116W J R6502 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4761 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6503 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R4762 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6505 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4772 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6506 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4773 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6507 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
R4774 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6508 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R4775 NRSA63J-331X MG RESISTOR 330Q 1/16W J R6509 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
R4776 NRSA63J-331X MG RESISTOR 330Q 1/16W J R6510 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R4777 NRSA63J-101X MG RESISTOR 100Q 1/16W J R6511 NRSA63J-333X MG RESISTOR 33kQ 1/16W J
R4778 NRSA63J-101X MG RESISTOR 100Q 1/16W J R6512 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
R4781 NRSA63J-101X MG RESISTOR 100Q 1/16W J R6513 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R4782 NRSA63J-101X MG RESISTOR 100Q 1/16W J R6514 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
R4783 QRE141J-151Y C RESISTOR 150Q 1/4W J R6515 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R4784 QRE141J-151Y C RESISTOR 150Q 1/4W J R6516 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R4785 QRE141J-151Y C RESISTOR 150Q 1/4W J R6517 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R4786 QRE141J-151Y C RESISTOR 150Q 1/4W J R6518 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R4791 NRSA02J-221X MG RESISTOR 220Q 1/10W J R6601 NRSAG3J-104X MG RESISTOR 100kQ 1/16W J
R4801 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R6602 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4802 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R6603 NRSAG3J-102X MG RESISTOR 1kQ 1/16W J

A\R4811 QRZ9006-4R7X F.RESISTOR 4.7Q1/4W J R6605 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R4821 QRE141J-181Y C RESISTOR 180Q 1/4W J R6606 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R4822 QRE141J-151Y C RESISTOR 150Q 1/4W J R6607 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R4831 NRSA63J-153X MG RESISTOR 15kQ 1/16W J R6608 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R4832 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R6609 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R4833 NRSA63J-123X MG RESISTOR 12kQ 1/16W J R6610 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R4834 NRSAG3J-393X MG RESISTOR 39kQ 1/16W J R6611 NRSA63J-333X MG RESISTOR 33kQ 1/16W J
R4835 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J R6612 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4841 NRSA63J-681X MG RESISTOR 680Q 1/16W J R6613 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R4842 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6614 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4843 QRT017J-2R2 MF RESISTOR 22Q1WJ R6615 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R4844 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R6616 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R4845 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R6617 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R4861 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R6618 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R4863 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
R4864 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J ANL901 QQR1105-001 LINE FILTER
R4866 NRSA63J-272X MG RESISTOR 2.7kQ 1/16W J L951 QQL244K-R22Z COoIL 0.22uHK
R4871 NRSA63J-331X MG RESISTOR 330Q 1/16W J L952 QQL44BK-220Z COolL 22uHK
R4872 NRSA63J-331X MG RESISTOR 330Q 1/16W J L955 QQL26AK-220Z ColL 22uHK
R4873 NRSA63J-331X MG RESISTOR 330Q 1/16W J L957 QQL244K-100Z COIL 10uH K
R4875 NRSA63J-331X MG RESISTOR 330Q 1/16W J L959 QQL244K-100Z CoIL 10uH K
R4876 NRSA63J-331X MG RESISTOR 330Q 1/16W J L4391 QQL25CK-221Z COoIL 220uH K
R4881 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J ANTI01 QQS0097-001 SW TRANSF
R4883 NRSA63J-472X MG RESISTOR 4.7kQ 1116W J
R4884 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J CN401 QGF1036C1-10 CONNECTOR FFC/FPC (1-10)
R4886 NRSA63J-562X MG RESISTOR 5.6kQ 1/16W J CN402  QGF1036C1-08 CONNECTOR FFC/IFPC (1-8)
R4891 NRSA63J-221X MG RESISTOR 220Q 1116W J CN403  QGF1036C1-28 CONNECTOR FFC/FPC (1-28)
R4892 NRSA63J-221X MG RESISTOR 220Q 1116W J CN404  QGD2504C1-05Z CONNECTOR (1-5)

A\R4921 QRZ9005-100X FUSI RESISTOR 10Q CN405  QGD2504C1-05Z CONNECTOR (1-5)

R4922 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN406  QGD2504C1-04Z CONNECTOR (1-4)

A\R4931 QRZ9005-100X FUSI RESISTOR 10Q CN407  QGD2504C1-05Z CONNECTOR (1-5)

R4932 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN410  QGF1205C1-11 CONNECTOR FFC/FPC (1-11)
R4961 QRE141J-271Y C RESISTOR 270Q 1/4W J CN411 QGF1036C1-31 CONNECTOR FFC/FPC (1-31)
R4971 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J CN412  QGF1036C1-07 CONNECTOR FFC/FPC (1-7)
R4972 NRSA63J-224X MG RESISTOR 220kQ 1/16W J CN450  QGF1205C1-13 CONNECTOR FFC/FPC (1-13)
R4973 NRSA63J-102X MG RESISTOR 1kQ 1/16W J CN456  QGD2504C1-04Z CONNECTOR (1-4)

R4974 NRSAG63J-184X MG RESISTOR 180kQ 1/16W J CN457  QGD2504C1-03Z CONNECTOR (1-3)

R4975 NRSA63J-184X MG RESISTOR 180kQ 1/16W J CN460  QGF1205C1-05 CONNECTOR FFC/IFPC (1-5)
R4990 NRSA63J-103X MG RESISTOR 10kQ 1/16W J CN701 QGF1205F1-05 CONNECTOR FFC/IFPC (1-5)
R4997 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J A\ CP951 ICP-N10-T IC PROTECTOR 400mA

R4998 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J ACP999 ICP-N10-T IC PROTECTOR 400mA

R6001 NRSA63J-102X MG RESISTOR 1kQ 1/16W J EP401 QNZ0136-001Z EARTH PLATE

R6101 NRSA63J-223X MG RESISTOR 22kQ 1/16W J EP402 QNZ0136-001Z EARTH PLATE

R6102 NRSA63J-102X MG RESISTOR 1kQ 1/16W J EP403 QNZ0136-001Z EARTH PLATE

R6103 NRSA63J-333X MG RESISTOR 33kQ 1/16W J EP901 QNZ0136-001Z EARTH PLATE

R6105 NRSA63J-473X MG RESISTOR 47kQ 1/16W J EP902 QNZ0136-001Z EARTH PLATE



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No. ~ Part No. Part Name Description Local
FC901 QNG0003-001Z FUSE CLIP S526 QSW0825-001Z TACT SW
FC902 QNG0003-001Z FUSE CLIP S527 QSW0825-001Z TACT SW
FW901 QUM219-06DGZ4-E  PARA RIBON WIR S528 QSW0825-0012 TACT SW
FW902  QUM21A-06DGZ4-E  PARA RIBON WIR S529 QSW0825-001Z TACT SW
HS901 GV40606-002A HEAT SINK S531 QSW0825-001Z TACT SW
J4401 QNN0570-001 PIN JACK S532 QSW0825-001Z TACT SW
J4402 QNN0572-001 PIN JACK S533 QSW0825-001Z TACT SW
J4891 QNS0089-001 3.5 JACK S534 QSW0825-001Z TACT SW
J6001 QNS0170-001 HEADPHONE JACK S535 QSW0825-001Z TACT SW
K902 QQR0621-001Z FERRATE BEADS S536 QSW0825-0012 TACT SW
K4702 QQR0621-001Z2 FERRATE BEADS S537 QSW0825-001Z TACT SW
K6001 NQR0007-002X FERRITE BEADS S538 QSW0825-001Z TACT SW
K6002 NQR0007-002X FERRITE BEADS S539 QSW0825-001Z TACT SW
K6003 NQR0007-002X FERRITE BEADS S540 QSW0825-001Z TACT SW
K6004 NQRO0007-002X FERRITE BEADS
A P01 QNC0082-001 AC INLET
X4701 QAX0246-001Z C RESONATOR 8.00MHz .
Audio board
Block No. [0][3]
Front board N
A\ SymbolNo.  Part No. Part Name Description Local
Block No. [0][2]
A\ SymbolNo.  Part No. Part Name Description Local IC151 CD4066BM-X IC
IC152 CD4066BM-X IC
IC153 BD3814FV-X IC
1C501 PT6315 IC IC154 CD4066BM-X IC
IC511 GP1UM271XKVF IR DETECT UNIT IC158 RC4558D-X IC
IC159 RC4558D-X IC
Q503 KRC102S-X DIGI TRANSISTOR IC160 RC4558D-X IC
IC509 GP1FAV30RKOF OPT RECEIVER
D511 SLR-343VC/NPQ-T  LED IC531 RC4558D-X IC
D551 SELU2E10C-P LED IC581 RC4558D-X IC
IC591 RC4558D-X IC
C506 NCB30JK-105X C CAPACITOR 1uF 6.3V K
C507 NCB31HK-103X C CAPACITOR 0.01uF 50V K Q1131 IMX9-W TRANSISTOR
C511 NCB21CK-105X C CAPACITOR 1uF 16V K Q1133 IMX9-W TRANSISTOR
C515 NCB31HK-103X C CAPACITOR 0.01uF 50V K Q1135 IMX9-W TRANSISTOR
C541 NCB31HK-103X C CAPACITOR 0.01uF 50V K Q1137 2SC3661-X TRANSISTOR
C542 NCB31HK-103X C CAPACITOR 0.01uF 50V K Q1251 KRA104S-X DIGI TRANSISTOR
Q1252 KRA104S-X DIGI TRANSISTOR
R501 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R502 NRSA63J-102X MG RESISTOR 1kQ 1/16W J C1001 QETN1EM-107Z E CAPACITOR 100uF 25V M
R503 NRSA63J-102X MG RESISTOR 1kQ 1/16W J C1002 QETN1EM-107Z E CAPACITOR 100uF 25V M
R505 NRSA63J-823X MG RESISTOR 82kQ 1/16W J C1003 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R506 NRSA63J-330X MG RESISTOR 33Q 1116W J C1101 NCB31HK-331X C CAPACITOR 330pF 50V K
R511 NRSA63J-221X MG RESISTOR 220Q 1/116W J C1102 NCB31HK-331X C CAPACITOR 330pF 50V K
R521 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J C1103 NCB31CK-104X C CAPACITOR 0.1uF 16V K
R522 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J C1120 NCB31CK-333X C CAPACITOR 0.033uF 16V K
R526 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J C1121 NCB31CK-333X C CAPACITOR 0.033uF 16V K
R527 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J C1122 NCB31CK-333X C CAPACITOR 0.033uF 16V K
R528 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J C1123 NCB31CK-333X C CAPACITOR 0.033uF 16V K
R531 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J C1124 NCB31HK-472X C CAPACITOR 4700pF 50V K
R532 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J C1125 NCB31HK-472X C CAPACITOR 4700pF 50V K
R533 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J C1141 QETN1EM-107Z E CAPACITOR 100uF 25V M
R534 NRSA63J-153X MG RESISTOR 15kQ 1/16W J C1142 QETN1EM-107Z E CAPACITOR 100uF 25V M
R536 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J C1145 NCB31CK-104X C CAPACITOR 0.1uF 16V K
R537 NRSA63J-392X MG RESISTOR 3.9kQ 1/16W J C1176 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R538 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J c177 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R539 NRSA63J-153X MG RESISTOR 15kQ 1/16W J C1178 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R541 NRSA63J-103X MG RESISTOR 10kQ 1/16W J C1179 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R542 NRSA63J-103X MG RESISTOR 10kQ 1/16W J C1180 NCB31HK-103X C CAPACITOR 0.01uF 50V K
R552 NRSA63J-121X MG RESISTOR 120Q 1/16W J Cc1181 NCB31HK-103X C CAPACITOR 0.01uF 50V K
C1183 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
BK501 LV43659-001A FL HOLDER C1201 QETN1EM-476Z E CAPACITOR 47uF 25V M
BK502 LV43659-001A FL HOLDER C1202 QETN1EM-476Z E CAPACITOR 47uF 25V M
CN501 QGF1205F1-13 CONNECTOR FFC/FPC (1-13) C1203 QETN1EM-476Z E CAPACITOR 47uF 25V M
DI501 QLF0154-001 FL TUBE C1204 QETN1EM-476Z E CAPACITOR 47uF 25V M
FW502  QUM216-09Z4Z4-E  PARA RIBON WIR C1205 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
FW521 QUM213-15DGZ4-E  PARA RIBON WIRE C1206 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
FW561 QUM214-16DGZ4-E  PARA RIBON WIRE C1207 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
JS541 QSW1122-001 JOG VOLUME C1208 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
K501 NRSA02J-0R0X MG RESISTOR 0Q 1/10W J C1209 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
K502 NRSA02J-0R0X MG RESISTOR 0Q 1/10W J C1210 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
S521 QSW0825-001Z TACT SW c121 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
S522 QSW0825-001Z TACT SW C1212 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
S523 QSW0825-001Z TACT SW C1213 QETN1HM-475Z E CAPACITOR 4.7uF 50V M



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
C1214 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1139 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C1215 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1140 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C1216 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1141 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
c1217 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1142 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C1218 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1143 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J
C1221 NDC31HJ-470X C CAPACITOR 47pF 50V J R1144 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J
C1222 NDC31HJ-470X C CAPACITOR 47pF 50V J R1145 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C1223 NDC31HJ-470X C CAPACITOR 47pF 50V J R1146 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C1224 NDC31HJ-470X C CAPACITOR 47pF 50V J R1147 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C1225 NDC31HJ-471X C CAPACITOR 470pF 50V J R1148 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C1226 NDC31HJ-470X C CAPACITOR 47pF 50V J R1149 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
C1227 NCB31CK-183X C CAPACITOR 0.018uF 16V K R1150 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C1228 NCB31CK-183X C CAPACITOR 0.018uF 16V K R1151 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
C1230 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1152 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J
C1251 NCB31HK-103X C CAPACITOR 0.01uF 50V K R1153 NRSA63J-471X MG RESISTOR 470Q 1/16W J
C1252 NCB31HK-103X C CAPACITOR 0.01uF 50V K R1154 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
C1253 NCB31HK-103X C CAPACITOR 0.01uF 50V K R1155 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C1254 NCB31HK-103X C CAPACITOR 0.01uF 50V K R1156 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2503 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1157 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J
C2504 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R1158 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C2509 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1161 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2510 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1162 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C2511 QETN1HM-105Z E CAPACITOR 1uF 50V M R1163 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C2512 QETN1HM-105Z E CAPACITOR 1uF 50V M R1164 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C2525 NCB31HK-102X C CAPACITOR 1000pF 50V K R1165 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2526 NCB31HK-102X C CAPACITOR 1000pF 50V K R1166 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2531 NCB31HK-331X C CAPACITOR 330pF 50V K R1167 NRSA63J-122X MG RESISTOR 1.2kQ 1/16W J
C2532 NCB31HK-331X C CAPACITOR 330pF 50V K R1168 NRSAB3J-122X MG RESISTOR 1.2kQ 1/16W J
C2533 QETN1EM-476Z E CAPACITOR 47uF 25V M R1169 NRSA63J-393X MG RESISTOR 39kQ 1/16W J
C2534 QETN1EM-476Z E CAPACITOR 47uF 25V M R1170 NRSA63J-393X MG RESISTOR 39kQ 1/16W J
C2539 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1171 NRSAB3J-152X MG RESISTOR 1.5kQ 1/16W J
C2540 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1172 NRSAB3J-152X MG RESISTOR 1.5kQ 1/16W J
C2541 QETN1HM-105Z E CAPACITOR 1uF 50V M R1173 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
C2542 QETN1HM-105Z E CAPACITOR 1uF 50V M R1174 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
C2563 NCB31HK-271X C CAPACITOR 270pF 50V K R1175 NRSAB3J-202X MG RESISTOR 2kQ 1116W J
C2564 NCB31HK-271X C CAPACITOR 270pF 50V K R1176 NRSAB3J-393X MG RESISTOR 39kQ 1/16W J
C2575 NCB31HK-102X C CAPACITOR 1000pF 50V K R1197 NRSAB3J-225X MG RESISTOR 2.2MQ 1/16W J
C2576 NCB31HK-102X C CAPACITOR 1000pF 50V K R1201 NRSAB3J-124X MG RESISTOR 120kQ 1/16W J
C2577 QETN1HM-105Z E CAPACITOR 1uF 50V M R1202 NRSA63J-124X MG RESISTOR 120kQ 1/16W J
C2578 QETN1HM-105Z E CAPACITOR 1uF 50V M R1240 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2581 QETN1HM-105Z E CAPACITOR 1uF 50V M R1241 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2582 QETN1HM-106Z E CAPACITOR 10uF 50V M R1242 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2583 NCB31HK-271X C CAPACITOR 270pF 50V K R1243 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2584 NDC31HJ-560X C CAPACITOR 56pF 50V J R1244 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2585 NCB31HK-102X C CAPACITOR 1000pF 50V K R1245 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C2589 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1253 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2590 NCB31CK-104X C CAPACITOR 0.1uF 16V K R1254 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C2592 NCB31HK-472X C CAPACITOR 4700pF 50V K R2525 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C2594 NCB31HK-223X C CAPACITOR 0.022uF 50V K R2526 NRSAG3J-102X MG RESISTOR 1kQ 1/16W J
C2597 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R2531 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C2599 NCB31CK-104X C CAPACITOR 0.1uF 16V K R2532 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C2600 NCB31CK-104X C CAPACITOR 0.1uF 16V K R2533 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
C2603 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R2534 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J
C2604 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R2535 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C2605 NDC31HJ-560X C CAPACITOR 56pF 50V J R2536 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J

R2537 NRSAG3J-104X MG RESISTOR 100kQ 1/16W J
R1101 NRSAB3J-471X MG RESISTOR 470Q 1/16W J R2538 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R1102 NRSA63J-471X MG RESISTOR 470Q 1/16W J R2539 NRSA63J-132X MG RESISTOR 1.3kQ 1/16W J
R1103 NRSAB3J-564X MG RESISTOR 560kQ 1/16W J R2540 NRSAB3J-132X MG RESISTOR 1.3kQ 1/16W J
R1104 NRSAB3J-564X MG RESISTOR 560kQ 1/16W J R2543 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R1106 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R2544 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R1107 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J R2545 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
R1108 NRSA63J-334X MG RESISTOR 330kQ 1/16W J R2546 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
R1109 NRSAB3J-334X MG RESISTOR 330kQ 1/16W J R2549 NRSAB3J-681X MG RESISTOR 680Q 1/16W J
R1110 NRSA63J-223X MG RESISTOR 22kQ 1/16W J R2550 NRSA63J-681X MG RESISTOR 680Q 1/16W J
R1120 NRSAB3J-123X MG RESISTOR 12kQ 1/16W J R2553 NRSAG3J-101X MG RESISTOR 100Q 1/16W J
R1121 NRSAB3J-123X MG RESISTOR 12kQ 1/16W J R2554 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R1122 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R2560 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
R1123 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R2561 NRSAB3J-273X MG RESISTOR 27kQ 1/16W J
R1124 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J R2562 NRSA63J-753X MG RESISTOR 75kQ 1/16W J
R1131 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R2563 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R1132 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R2564 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R1133 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R2565 NRSAB3J-622X MG RESISTOR 6.2kQ 1/16W J
R1134 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R2566 NRSAB3J-622X MG RESISTOR 6.2kQ 1/16W J
R1135 NRSA63J-332X MG RESISTOR 3.3kQ 1/16W J R2567 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R1136 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J R2568 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R1137 NRSA63J-104X MG RESISTOR 100kQ 1/16W J R2581 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R1138 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R2582 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No. ~ Part No. Part Name Description
R2583 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J D154 188133-T2 S| DIODE
R2584 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J D163 18S133-T2 S| DIODE
R2585 NRSA63J-622X MG RESISTOR 6.2kQ 1/16W J D164 MTZJ6.2B-T2 Z DIODE
R2586 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J D165 MTZJ6.8C-T2 Z DIODE
R2587 NRSA63J-102X MG RESISTOR 1kQ 1/16W J D166 MTZJ6.8C-T2 Z DIODE
R2588 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J D501 188133-T2 S| DIODE
R2590 NRSA63J-333X MG RESISTOR 33kQ 1/16W J D504 18S133-T2 SI DIODE
R2592 NRSA63J-333X MG RESISTOR 33kQ 1/16W J D505 UDZS5.1B-X Z DIODE
R2594 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J D506 18S133-T2 S| DIODE
R2596 NRSA63J-102X MG RESISTOR 1kQ 1/16W J D507 188355-X SI DIODE
R2599 NRSAG3J-102X MG RESISTOR 1kQ 1/16W J D510 188133-T2 S| DIODE
D514 18S133-T2 SI DIODE
CN441 QGF1036C1-31 CONNECTOR FFCIFPC (1-31) D515 188133-T2 S| DIODE
CN442  QGF1036C1-07 CONNECTOR FFCIFPC (1-7) D516 MTZJ30C-T2 Z DIODE
J1101 QNN0598-001 PIN JACK D521 MTZJ6.8C-T2 Z DIODE
J1103 QND0118-001 DIN CONNECTOR D535 188355-X S| DIODE
K1101 NQR0007-002X FERRITE BEADS D541 18S133-T2 SI DIODE
D542 188133-T2 S| DIODE
D543 18S133-T2 SI DIODE
D545 188133-T2 SI DIODE
Mother board D546 185133-T2 SI DIODE
D548 188133-T2 SI DIODE
Block No. [0][4] D549  1SS133-T2 S| DIODE
D550 18S133-T2 SI DIODE
A\ SymbolNo. ~ Part No. Part Name Description Local D551 185133-T2 SI DIODE
D552 18S133-T2 S| DIODE
D553 188133-T2 S| DIODE
AIC201 STK413-430 IC D561 SLR-342MC-T12 LED
A\1C202 STK413-430 IC D601 18S133-T2 SI DIODE
IC301 RC4558D-X IC D610 188133-T2 SI DIODE
IC302 RC4558D-X IC D611 18S133-T2 SI DIODE
IC303 RC4558D-X IC D612 188133-T2 SI DIODE
1C601 MN101C427NB IC D2101 18S133-T2 SI DIODE
D2201 188133-T2 SI DIODE
Q152 KTC2026/Y/ TRANSISTOR D2301 18S133-T2 S| DIODE
Q501 KRA104S-X DIGI TRANSISTOR D2401 18S133-T2 S| DIODE
Q502 KTC3875/YG/-X SI TRANSISTOR D2501 188133-T2 S| DIODE
Q503 KTC3875/YG/-X SI TRANSISTOR D2601 18S133-T2 S| DIODE
Q504 KTA1504/YG/-X SI TRANSISTOR D2701 MTZJ15C-T2 Z DIODE
Q505 KRC109S-X TRANSISTOR D2702 MTZJ15C-T2 Z DIODE
Q517 KRC104S-X TRANSISTOR D2703 MTZJ16C-T2 Z DIODE
Q523 KTC3875/YG/-X SI TRANSISTOR D2704 188133-T2 S| DIODE
Q524 KTA1504/YG/-X SI TRANSISTOR D2705 18S133-T2 S| DIODE
Q525 KTC3875/YG/-X SI TRANSISTOR D3101 188133-T2 S| DIODE
Q542 KTC3875/YG/-X SI TRANSISTOR D3102 18S133-T2 S| DIODE
Q603 KTC3875/YG/-X SI TRANSISTOR D3201 18S133-T2 S| DIODE
Q604 KTC3265/Y/-X TRANSISTOR D3202 18S133-T2 S| DIODE
Q2101 KTA1504/YG/-X SI TRANSISTOR D3301 18S133-T2 S| DIODE
Q2201 KTA1504/YG/-X SI TRANSISTOR D3302 18S133-T2 SI DIODE
Q2301 KTA1504/YG/-X SI TRANSISTOR D3401 18S133-T2 S| DIODE
Q2401 KTA1504/YG/-X SI TRANSISTOR D3402 18S133-T2 S| DIODE
Q2501 KTA1504/YG/-X SI TRANSISTOR D3501 18S133-T2 S| DIODE
Q2601 KTA1504/YG/-X SI TRANSISTOR D3502 18S133-T2 S| DIODE
Q2701 KTC3875/YG/-X SI TRANSISTOR D3601 18S133-T2 SI DIODE
Q2702 KTA1046/Y/ TRANSISTOR D3602 18S133-T2 S| DIODE
Q2703 KRC102S-X DIGI TRANSISTOR D3703 MTZJ11C-T2 Z DIODE
Q2707 KTA1267/YG/-T TRANSISTOR D3706 18S133-T2 S| DIODE
Q2708 KTC3199/GL/-T TRANSISTOR D3707 1S8S133-T2 S| DIODE
Q3101 KTC3875/YG/-X SI TRANSISTOR D3708 18S133-T2 S| DIODE
Q3102 KTC3875/YG/-X SI TRANSISTOR
Q3201 KTC3875/YG/-X SI TRANSISTOR AC101 QCZ9105-472 C CAPACITOR 4700pF 250V M
Q3202 KTC3875/YG/-X SI TRANSISTOR C153 NCF21HZ-473X C CAPACITOR 0.047uF 50V Z
Q3301 KTC3875/YG/-X SI TRANSISTOR C154 NCF21HZ-473X C CAPACITOR 0.047uF 50V Z
Q3302 KTC3875/YG/-X SI TRANSISTOR C155 NCF21HZ-473X C CAPACITOR 0.047uF 50V Z
Q3401 KTC3875/YG/-X SI TRANSISTOR C156 NCF21HZ-473X C CAPACITOR 0.047uF 50V Z
Q3402 KTC3875/YG/-X SI TRANSISTOR C157 NCF21HZ-223X C CAPACITOR 0.022uF 50V Z
Q3501 KTC3875/YG/-X SI TRANSISTOR C159 NCF21HZ-223X C CAPACITOR 0.022uF 50V Z
Q3502 KTC3875/YG/-X SI TRANSISTOR C161 QEZ0736-478 E CAPACITER 4700uF
Q3701 KRA102S-X DIGI TRANSISTOR C162 QEZ0736-478 E CAPACITER 4700uF
Q3702 KRA102S-X DIGI TRANSISTOR C163 QETM1EM-478 E CAPACITOR 4700uF 25V M
Q3703 KRC103S-X DIGITAL TR C164 QETM1EM-478 E CAPACITOR 4700uF 25V M
Q3704 KTC2026/Y/ TRANSISTOR Cc167 QETN1EM-476Z E CAPACITOR 47uF 25V M
Q3705 KTC3875/YG/-X SI TRANSISTOR C168 QETN1CM-107Z E CAPACITOR 100uF 16V M
Q3706 KRC104S-X TRANSISTOR c17 QETN1CM-107Z E CAPACITOR 100uF 16V M
Cc172 QETN1CM-107Z E CAPACITOR 100uF 16V M
D101 188355-X S| DIODE C501 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
AD151 GBUB03 BRIDGE DIODE C502 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
AD152 GBU803 BRIDGE DIODE €503 QETN1HM-475Z E CAPACITOR 4.7uF 50V M

3-16



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
C512 QETN1HM-475Z E CAPACITOR 4.7uF 50V M C3601 NCB31HK-152X C CAPACITOR 1500pF 50V K
C522 QETN1HM-106Z E CAPACITOR 10uF 50V M C3604 QETN1HM-225Z E CAPACITOR 2.2uF 50V M
C523 QETN1EM-476Z E CAPACITOR 47uF 25V M C3701 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
C571 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z C3702 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
C591 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z C3703 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
€592 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z C3704 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
C601 QETN1CM-107Z E CAPACITOR 100uF 16V M C3705 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
€602 NCB31HK-102X C CAPACITOR 1000pF 50V K C3706 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z
C604 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z C3715 QETN1CM-107Z E CAPACITOR 100uF 16V M
C605 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z C3716 QETN1AM-227Z E CAPACITOR 220uF 10V M
C606 QETN1HM-106Z E CAPACITOR 10uF 50V M C3720 QETN1EM-476Z E CAPACITOR 47uF 25V M
C2102 NCB31CK-473X C CAPACITOR 0.047uF 16V K C3721 QEKC1CM-107Z E CAPACITOR 100uF 16V M
C2103 QETN1HM-475Z E CAPACITOR 4.7uF 50V M
C2104 QETN1CM-107Z E CAPACITOR 100uF 16V M R152 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
C2105 NDC31HJ-101X C CAPACITOR 100pF 50V J AR163 QRJ146J-221X UNF CRESISTOR ~ 220Q 1/4W J
C2106 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R164 QRE141J-332Y C RESISTOR 3.3kQ 1/4W J
C2107 NCB21HK-104X C CAPACITOR 0.1uF 50V K R165 QRLO027J-391 OMF RESISTOR 390Q 2W J
C2108 NCB21HK-104X C CAPACITOR 0.1uF 50V K R166 QRL027J-391 OMF RESISTOR 390Q 2W J
C2202 NCB31HK-471X C CAPACITOR 470pF 50V K ARIT QRLO027J-470 OMF RESISTOR 47Q2WJ
C2203 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R501 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J
C2204 QETN1CM-107Z E CAPACITOR 100uF 16V M R502 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
C2205 NDC31HJ-101X C CAPACITOR 100pF 50V J R504 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C2206 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R505 NRSAG3J-102X MG RESISTOR 1kQ 1/16W J
C2207 NCB21HK-104X C CAPACITOR 0.1uF 50V K R506 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C2208 NCB21HK-104X C CAPACITOR 0.1uF 50V K R508 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C2302 NCB31HK-471X C CAPACITOR 470pF 50V K R510 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
C2303 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R522 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C2304 QETN1CM-107Z E CAPACITOR 100uF 16V M R523 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2305 NDC31HJ-101X C CAPACITOR 100pF 50V J R533 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C2306 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R534 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
C2307 NCB21HK-104X C CAPACITOR 0.1uF 50V K R535 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2308 NCB21HK-104X C CAPACITOR 0.1uF 50V K R536 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
C2402 NCB31HK-471X C CAPACITOR 470pF 50V K R540 NRSAB3J-472X MG RESISTOR 4.7kQ 1/116W J
C2403 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R553 NRSA63J-153X MG RESISTOR 15kQ 1/16W J
C2404 QETN1CM-107Z E CAPACITOR 100uF 16V M R554 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2405 NDC31HJ-101X C CAPACITOR 100pF 50V J R555 QRJ146J-271X UNF CRESISTOR  270Q 1/4W J
C2406 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R556 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C2407 NCB21HK-104X C CAPACITOR 0.1uF 50V K R557 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C2408 NCB21HK-104X C CAPACITOR 0.1uF 50V K R558 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2502 NCB31HK-471X C CAPACITOR 470pF 50V K R559 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C2503 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R560 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2504 QETN1CM-107Z E CAPACITOR 100uF 16V M R561 NRSA63J-822X MG RESISTOR 8.2kQ 1/16W J
C2505 NDC31HJ-101X C CAPACITOR 100pF 50V J R562 NRSAB3J-393X MG RESISTOR 39kQ 1/16W J
C2506 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R563 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C2507 NCB21HK-104X C CAPACITOR 0.1uF 50V K R574 NRSA02J-151X MG RESISTOR 150Q 1/10W J
C2508 NCB21HK-104X C CAPACITOR 0.1uF 50V K R601 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C2602 NCB31HK-471X C CAPACITOR 470pF 50V K R602 NRSAB3J-332X MG RESISTOR 3.3kQ 1/16W J
C2603 QETN1HM-475Z E CAPACITOR 4.7uF 50V M R603 NRSA63J-222X MG RESISTOR 2.2kQ 1/116W J
C2604 QETN1CM-107Z E CAPACITOR 100uF 16V M R606 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2605 NDC31HJ-101X C CAPACITOR 100pF 50V J R607 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C2606 NDC31HJ-3R0X C CAPACITOR 3pF 50V J R608 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2607 NCB21HK-104X C CAPACITOR 0.1uF 50V K R611 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
C2608 NCB21HK-104X C CAPACITOR 0.1uF 50V K R612 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2701 QETN1HM-107Z E CAPACITOR 100uF 50V M R613 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2702 QETN1EM-107Z E CAPACITOR 100uF 25V M R614 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2703 QETN1HM-107Z E CAPACITOR 100uF 50V M R621 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C2704 QETN1HM-476Z E CAPACITOR 47uF 50V M R622 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C2705 QETN1HM-107Z E CAPACITOR 100uF 50V M R623 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C2706 QETN1HM-107Z E CAPACITOR 100uF 50V M R624 NRSA63J-472X MG RESISTOR 4.7kQ 1/116W J
C2707 QETN1HM-106Z E CAPACITOR 10uF 50V M R625 NRSA63J-472X MG RESISTOR 4.7kQ 1/116W J
C2711 QETN1HM-106Z E CAPACITOR 10uF 50V M R626 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C2712 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z R627 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C2713 NCF31HZ-103X C CAPACITOR 0.01uF 50V Z R628 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3101 NCB31HK-152X C CAPACITOR 1500pF 50V K R629 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C3103 QETN1HM-105Z E CAPACITOR 1uF 50V M R631 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3104 QETN1HM-225Z E CAPACITOR 2.2uF 50V M R633 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3201 NCB31HK-152X C CAPACITOR 1500pF 50V K R635 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C3203 QETN1HM-105Z E CAPACITOR 1uF 50V M R637 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3204 QETN1HM-225Z E CAPACITOR 2.2uF 50V M R640 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3301 NCB31HK-152X C CAPACITOR 1500pF 50V K R641 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3303 QETN1HM-105Z E CAPACITOR 1uF 50V M R642 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3304 QETN1HM-225Z E CAPACITOR 2.2uF 50V M R643 NRSA63J-223X MG RESISTOR 22kQ 1/16W J
C3401 NCB31HK-152X C CAPACITOR 1500pF 50V K R644 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J
C3403 QETN1HM-105Z E CAPACITOR 1uF 50V M R645 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C3404 QETN1HM-225Z E CAPACITOR 2.2uF 50V M R667 NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J
C3501 NCB31HK-152X C CAPACITOR 1500pF 50V K R671 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C3503 QETN1HM-105Z E CAPACITOR 1uF 50V M R685 QRE141J-102Y C RESISTOR 1kQ 1/4W J
C3504 QETN1HM-225Z E CAPACITOR 2.2uF 50V M R686 QRE141J-102Y C RESISTOR 1kQ 1/4W J



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No. ~ Part No. Part Name Description Local
R2101 NRSA63J-103X MG RESISTOR 10kQ 1/16W J AR2701 QRZ9005-220X FUSI RESISTOR 220
R2103 NRSA63J-563X MG RESISTOR 56kQ 1/16W J AR2702 QRJ146J-220X UNF CRESISTOR  22Q 1/4W J
R2104 NRSA63J-561X MG RESISTOR 560Q 1/16W J R2703 NRSA63J-471X MG RESISTOR 470Q 1/16W J
R2105 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R2704 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R2106 QRZ0224-R22 EMIT RESISTOR 0.22Q R2705 NRSA63J-333X MG RESISTOR 33kQ 1/16W J
R2107 NRSA63J-102X MG RESISTOR 1kQ 1/16W J A\R2706 QRZ9006-4R7X F.RESISTOR 4.7Q1/4W J
R2108 NRSA63J-153X MG RESISTOR 15kQ 1/16W J AR2707 QRZ9006-4R7X F.RESISTOR 4.7Q1/4W J
R2109 NRSA63J-473X MG RESISTOR 47kQ 1/16W J A\R2708 QRZ9006-4R7X F.RESISTOR 4.7Q1/4W J
R2110 QRK126J-4R7X UNF CRESISTOR  4.7Q 1/2W J AR2709 QRZ9006-4R7X F.RESISTOR 4.7Q1/4W J
R2111 QRJ146J-100X UNF CRESISTOR ~ 10Q 1/4W J AR2710 QRZ9005-100X FUSI RESISTOR 10Q
R2112 NRSAB3J-752X MG RESISTOR 7.5kQ 1/116W J R2711 NRSAB3J-333X MG RESISTOR 33kQ 1/16W J
R2113 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R2712 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J
R2114 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R2713 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J
R2201 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R2721 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
R2203 NRSA63J-563X MG RESISTOR 56kQ 1/16W J R2722 QRE141J-472Y C RESISTOR 4.7kQ 1/4W J
R2204 NRSAB3J-561X MG RESISTOR 560Q 1/16W J R3101 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2205 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3103 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R2206 QRZ0224-R22 EMIT RESISTOR 0.22Q R3104 NRSA63J-183X MG RESISTOR 18kQ 1/16W J
R2207 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R3105 NRSAB3J-474X MG RESISTOR 470kQ 1/16W J
R2208 NRSA63J-153X MG RESISTOR 15kQ 1/16W J R3106 NRSA63J-470X MG RESISTOR 47Q 1/16W J
R2209 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J R3107 NRSAB3J-334X MG RESISTOR 330kQ 1/16W J
R2210 QRK126J-4R7X UNF CRESISTOR ~ 4.7Q 1/2WJ R3108 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R2211 QRJ146J-100X UNF CRESISTOR  10Q 1/4W J R3109 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R2212 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3110 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R2213 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3111 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R2214 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R3112 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2301 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R3113 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2303 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3201 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2304 NRSAB3J-561X MG RESISTOR 560Q 1/16W J R3203 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R2305 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3204 NRSAG3J-183X MG RESISTOR 18kQ 1/16W J
R2306 QRZ0224-R22 EMIT RESISTOR 0.22Q R3205 NRSA63J-474X MG RESISTOR 470kQ 1/16W J
R2307 NRSAG3J-102X MG RESISTOR 1kQ 1/16W J R3206 NRSAB3J-470X MG RESISTOR 47Q 1116W J
R2308 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J R3207 NRSAB3J-334X MG RESISTOR 330kQ 1/16W J
R2309 NRSA63J-473X MG RESISTOR 47kQ 1/16W J R3208 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R2310 QRK126J-4R7X UNF CRESISTOR ~ 4.7Q 1/2W J R3209 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R2311 QRJ146J-100X UNF CRESISTOR  10Q 1/4W J R3210 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R2312 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3211 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R2313 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3212 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2314 NRSA63J-104X MG RESISTOR 100kQ 1/16W J R3213 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2401 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J R3301 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2403 NRSAG3J-563X MG RESISTOR 56kQ 1/16W J R3303 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
R2404 NRSAB3J-561X MG RESISTOR 560Q 1/16W J R3304 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J
R2405 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3305 NRSAB3J-474X MG RESISTOR 470kQ 1/16W J
R2406 QRZ0224-R22 EMIT RESISTOR 0.22Q R3306 NRSA63J-470X MG RESISTOR 47Q 1116W J
R2407 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R3307 NRSAB3J-334X MG RESISTOR 330kQ 1/16W J
R2408 NRSA63J-153X MG RESISTOR 15kQ 1/16W J R3308 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R2409 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J R3309 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R2410 QRK126J-4R7X UNF CRESISTOR ~ 4.7Q 1/2W J R3310 NRSA63J-104X MG RESISTOR 100kQ 1/16W J
R2411 QRJ146J-100X UNF CRESISTOR  10Q 1/4W J R3311 NRSA63J-471X MG RESISTOR 470Q 1/16W J
R2412 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3312 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R2413 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R3313 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2414 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J R3401 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2501 NRSA63J-103X MG RESISTOR 10kQ 1/16W J R3403 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
R2503 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3404 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J
R2504 NRSAB3J-561X MG RESISTOR 560Q 1/16W J R3405 NRSAB3J-474X MG RESISTOR 470kQ 1/16W J
R2505 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3406 NRSAB3J-470X MG RESISTOR 47Q 1116W J
R2506 QRZ0224-R22 EMIT RESISTOR 0.22Q R3407 NRSA63J-334X MG RESISTOR 330kQ 1/16W J
R2507 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R3408 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R2508 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J R3409 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R2509 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J R3410 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R2510 QRK126J-4R7X UNF CRESISTOR  4.7Q 1/2W J R3411 NRSA63J-471X MG RESISTOR 470Q 1/16W J
R2511 QRJ146J-100X UNF CRESISTOR  10Q 1/4W J R3412 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2512 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R3413 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2513 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3501 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2514 NRSA63J-104X MG RESISTOR 100kQ 1/16W J R3503 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
R2601 NRSAG3J-103X MG RESISTOR 10kQ 1/16W J R3504 NRSAG3J-183X MG RESISTOR 18kQ 1/16W J
R2603 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3505 NRSAB3J-474X MG RESISTOR 470kQ 1/16W J
R2604 NRSAB3J-561X MG RESISTOR 560Q 1/16W J R3506 NRSAB3J-470X MG RESISTOR 47Q 1116W J
R2605 NRSAB3J-563X MG RESISTOR 56kQ 1/16W J R3507 NRSAB3J-334X MG RESISTOR 330kQ 1/16W J
R2606 QRZ0224-R22 EMIT RESISTOR 0.22Q R3508 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R2607 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J R3509 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R2608 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J R3510 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
R2609 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J R3511 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R2610 QRK126J-4R7X UNF CRESISTOR ~ 4.7Q 1/2W J R3512 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2611 QRJ146J-100X UNF CRESISTOR  10Q 1/4W J R3513 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R2612 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J R3601 NRSAB3J-153X MG RESISTOR 15kQ 1/16W J
R2613 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J R3603 NRSA63J-222X MG RESISTOR 2.2kQ 1/16W J
R2614 NRSAG3J-104X MG RESISTOR 100kQ 1/16W J R3604 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J

3-18



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
R3605  NRSA63J-154X MG RESISTOR 150kQ 1/16W J IC701 AK4384VT-X IC
R3607  NRSA63J-104X MG RESISTOR 100kQ 1/16W J IC701 or AK4384ET-X IC
R3608  NRSA63J-101X MG RESISTOR 100Q 1/16W J IC702 AK4384VT-X IC
R3610  NRSA63J-104X MG RESISTOR 100kQ 1/16W J IC702 or AK4384ET-X IC
R3611 NRSA63J-471X MG RESISTOR 470Q 1/16W J IC703 AK4384VT-X IC
R3717  NRSA63J-103X MG RESISTOR 10kQ 1/16W J IC703 or AK4384ET-X IC
R3719  QRE141J-102Y C RESISTOR 1kQ 1/4W J IC704 AK5357VT-X IC
AR3720  QRJ146J-100X UNF CRESISTOR  10Q 1/4W J IC704 or AK5357ET-X IC
R3721  NRSA63J-221X MG RESISTOR 220Q 1/16W J IC705 MM1615AN-X IC
R3725  NRSA63J-472X MG RESISTOR 4.7kQ 1/16W J
R3726  NRSA63J-103X MG RESISTOR 10kQ 1/16W J Q101 KTA1001/Y/-X TRANSISTOR
AR3727  QRLO1DJ-180X OMF RESISTOR 18Q 1W J Q101  or 2SB1424/RI-W TRANSISTOR
R3728  NRSA63J-101X MG RESISTOR 100Q 1/16W J Q102 2SC4617/RI-X TRANSISTOR
R3729  NRSA63J-473X MG RESISTOR 47kQ 1/16W J Q103 KTA1001/Y/-X TRANSISTOR
R3730  NRSA63J-470X MG RESISTOR 47Q1/16W J Q103  or 2SB1424/R/-W TRANSISTOR
R3732  NRSA63J-153X MG RESISTOR 15kQ 1/16W J Q104 2SC4617/R/-X TRANSISTOR
R3741  NRSA63J-473X MG RESISTOR 47kQ 1/116W J Q105 UN2119-X TRANSISTOR
R3742  NRSA63J-104X MG RESISTOR 100kQ 1/16W J Q105 or KRA116S-X TRANSISTOR
L2101 QQLZ005-R45 CoIL 0.45uH C101 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
12201 QQLZ005-R45 colL 0.45uH C102 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
L2301 QQLZ005-R45 CoIL 0.45uH C103 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
L2401 QQLZ005-R45 ColL 0.45uH C104 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
L2501 QQLZ005-R45 colL 0.45uH C105 NEAFOJM-476X E CAPACITOR 47uF 6.3V M
L2601 QQLZ005-R45 ColL 0.45uH C106 NBE20JM-226X TAE CAPACITOR  22uF 6.3V M
c107 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
ACN101T  QGA7901C1-02 CONNECTOR W-B (1-2) c108 NBE20JM-226X TAE CAPACITOR  22uF 6.3V M
ACN102  QGA7901C1-02 CONNECTOR W-B (1-2) €201 NDC31HJ-221X C CAPACITOR 220pF 50V J
CN151  QGA3901C1-05 CONNECTOR W-B (1-5) €202 NDC31HJ-221X C CAPACITOR 220pF 50V J
CN271  QGB2510J1-14 CONNECTOR B-B (1-14) €203 NCB31HK-103X C CAPACITOR 0.01uF 50V K
CN272  QGB2510J1-09 CONNECTOR B-B (1-9) C204 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
CN273  QGB2510J1-14 CONNECTOR B-B (1-14) C205 NCB31HK-271X C CAPACITOR 270pF 50V K
CN274  QGA3901C1-02 CONNECTOR W-B (1-2) C206 NDC31HJ-151X C CAPACITOR 150pF 50V J
CN371  QGA2501C1-02 CONNECTOR W-B (1-2) €210 NCF31AZ-105X C CAPACITOR 1UF 10V Z
CN372  QGB2510K2-09 CONNECTOR B-B (1-9) C211 NCB31EK-223X C CAPACITOR 0.022uF 25V K
CN373  QGA2501C1-02 CONNECTOR W-B (1-2) c217 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
CN501  QGB2510K2-14 CONNECTOR B-B (1-14) C251 NCB31AK-474X C CAPACITOR 0.47uF 10V K
CN502  QGB2510K2-14 CONNECTOR B-B (1-14) €256 NCB31CK-104X C CAPACITOR 0.1uF 16V K
EP201  QNZ0136-001Z EARTH PLATE C257 NCB31HK-822X C CAPACITOR 8200pF 50V K
EP501  QNZ0136-001Z EARTH PLATE C258 NCB31CK-153X C CAPACITOR 0.015uF 16V K
FC101  QNG0019-001Z FUSE CLIP €259 NCB31CK-153X C CAPACITOR 0.015uF 16V K
FC102  QNG0019-001Z FUSE CLIP C260 NCB31HK-223X C CAPACITOR 0.022uF 50V K
FC155  QNG0019-001Z FUSE CLIP C261 NCB31HK-223X C CAPACITOR 0.022uF 50V K
FC156  QNG0019-001Z FUSE CLIP C262 NCB31HK-223X C CAPACITOR 0.022uF 50V K
FC157  QNG0019-001Z FUSE CLIP C300 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
FC158  QNG0019-001Z FUSE CLIP C301 NEAFOGM-476X E CAPACITOR 47uF 4V M
FW501  QUM213-28Z4Z4-E  RIBBON WIRE €302 NEAFOGM-476X E CAPACITOR 4TuF 4V M
HS151  QZW0138-001 HEAT SINK €303 NEAFOGM-476X E CAPACITOR 47uF 4V M
J2701 QND0118-001 DIN CONNECTOR C304 NCB30JK-105X C CAPACITOR 1uF 6.3V K
J2702 QNB0195-001 SPEAKER TERMINA €305 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
ARY101  QSK0142-001 RELAY C306 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
RY271  QSK0127-001 RELAY C307 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
RY272  QSK0127-001 RELAY C308 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
RY273  QSK0127-001 RELAY C309 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
TH271  NAD0025-103X N THERMISTOR 10kQ €310 NCB31CK-104X C CAPACITOR 0.1uF 16V K
WC201  QZW0112-001 WIRE CLAMP C311 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
X601 QAX0246-001Z C RESONATOR 8.00MHz C312 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
C313 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
C314 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
C315 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
DVD servo board C316 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
C318 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
Block No. [0][5] C319  NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
€320 NCB31CK-104X C CAPACITOR 0.1uF 16V K
A\ SymbolNo.  Part No. Part Name Description Local C321 NCB31CK-104X C CAPACITOR 0.1uF 16V K
C322 NCB31CK-104X C CAPACITOR 0.1uF 16V K
€323 NCB31CK-104X C CAPACITOR 0.1uF 16V K
1C201 LAB502-X IC C324 NCB30JK-105X C CAPACITOR 1uF 6.3V K
IC301 MN2DS0009AA IC C325 NDC31HJ-120X C CAPACITOR 12pF 50V J
IC302 MM1701CH-X IC C326 NDC31HJ-100X C CAPACITOR 10pF 50V J
IC305 MM1563BF-X IC 3.1V Regulator €328 NCB31HK-103X C CAPACITOR 0.01uF 50V K
IC451 MN101C61GNW IC €329 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
1C452 BRI3L56RFV-W-X  IC C330 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
IC453 S-80827CNNB-G-W  IC C331 NCB31CK-333X C CAPACITOR 0.033uF 16V K
IC505 K48641632H-UC75  IC €332 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
IC505 or HY57V641620ETP7  IC(DIGITAL) C333 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
IC509  —---eoeoee- IC(MICRO C ROM) C334 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z
IC510 BR24L16FV-W-X IC C335 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z



A\ SymbolNo.  Part No. Part Name Description Local A\ Symbol No. ~ Part No. Part Name Description Local
C337 NCB31CK-183X C CAPACITOR 0.018uF 16V K R117 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C338 NCB31HK-562X C CAPACITOR 5600pF 50V K R125 NRSA63J-1R0X MG RESISTOR 1Q1/16W J
C339 NBE20JM-106X TAE CAPACITOR  10uF 6.3V M R126 NRSA63J-101X MG RESISTOR 100Q 1/16W J
C340 NCB30JK-105X C CAPACITOR 1uF 6.3V K R127 NRSAB3J-432X MG RESISTOR 4.3kQ 1116W J
C341 NCB30JK-105X C CAPACITOR 1uF 6.3V K R128 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J
C347 NCB31CK-104X C CAPACITOR 0.1uF 16V K R202 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C348 NCB31CK-104X C CAPACITOR 0.1uF 16V K R204 NRSAB3J-273X MG RESISTOR 27kQ 1/16W J
C349 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R205 NRSA63J-273X MG RESISTOR 27kQ 1/16W J
C350 NCB31HK-103X C CAPACITOR 0.01uF 50V K R206 NRSAB3J-303X MG RESISTOR 30kQ 1/16W J
C351 NCB31HK-103X C CAPACITOR 0.01uF 50V K R207 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
C352 NCB31CK-153X C CAPACITOR 0.015uF 16V K R213 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C353 NCB31HK-561X C CAPACITOR 560pF 50V K R214 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C354 NCB31HK-561X C CAPACITOR 560pF 50V K R219 NRSAB3J-183X MG RESISTOR 18kQ 1/16W J
C356 NCB30JK-105X C CAPACITOR 1uF 6.3V K R220 NRSAB3J-243X MG RESISTOR 24kQ 1/16W J
C359 NCB30JK-105X C CAPACITOR 1uF 6.3V K R221 NRSA63J-682X MG RESISTOR 6.8kQ 1/16W J
C371 NCF31AZ-105X C CAPACITOR 1uF 10V Z R251 NRS125J-R39X MG RESISTOR 0.39Q 1/2W J
C372 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R259 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C373 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R301 NRS181J-0R0X MG RESISTOR 0Q 1/8W J
C374 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R303 NRSAB3J-220X MG RESISTOR 22Q 1/16W J
C375 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R306 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
C376 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R307 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C377 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R308 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C378 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R309 NRSAB3J-104X MG RESISTOR 100kQ 1/16W J
C379 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R310 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
C380 NCB21CK-105X C CAPACITOR 1uF 16V K R316 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C381 NCB21AK-225X C CAPACITOR 2.2uF 10VK R319 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C382 NCB31HK-471X C CAPACITOR 470pF 50V K R324 NRSA63J-331X MG RESISTOR 330Q 1/16W J
C383 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R325 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C386 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R326 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C393 NCB31HK-103X C CAPACITOR 0.01uF 50V K R327 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C451 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R330 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C452 NCB31CK-104X C CAPACITOR 0.1uF 16V K R331 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C453 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R332 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C454 NCB31HK-103X C CAPACITOR 0.01uF 50V K R334 NRSA63J-151X MG RESISTOR 150Q 1/16W J
C455 NCB31HK-103X C CAPACITOR 0.01uF 50V K R335 NRSAB3J-151X MG RESISTOR 150Q 1/16W J
C551 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R336 NRSAB3J-151X MG RESISTOR 150Q 1/16W J
C554 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R337 NRSAB3J-151X MG RESISTOR 150Q 1/16W J
C555 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R338 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C556 NCF31AZ-105X C CAPACITOR 1uF 10V Z R339 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
C557 NCB31HK-102X C CAPACITOR 1000pF 50V K R340 NRSA63D-303X MG RESISTOR 30kQ 1/16W D
C558 NEAFOGM-476X E CAPACITOR 47uF 4V M R341 NRSA63D-512X MG RESISTOR 5.1kQ 1/16W D
€559 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R342 NRSAG3D-242X MG RESISTOR 2.4kQ 1/16W D
C560 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R345 NRSAB3J-221X MG RESISTOR 220Q 1116W J
C563 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R346 NRSAB3J-223X MG RESISTOR 22kQ 1/16W J
C564 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R347 NRSAB3J-203X MG RESISTOR 20kQ 1/16W J
C701 NCB21CK-105X C CAPACITOR 1uF 16V K R348 NRSA63J-151X MG RESISTOR 150Q 1/16W J
C702 NCB31HK-103X C CAPACITOR 0.01uF 50V K R349 NRSAB3J-151X MG RESISTOR 150Q 1/16W J
C703 NCB30JK-105X C CAPACITOR 1uF 6.3V K R350 NRSAB3J-751X MG RESISTOR 750Q 1/16W J
C704 NCF31AZ-105X C CAPACITOR 1uF 10V Z R351 NRSAB3J-681X MG RESISTOR 680Q 1/16W J
C705 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R352 NRSAB3J-105X MG RESISTOR 1MQ 1/16W J
C706 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R353 NRSA63J-101X MG RESISTOR 100Q 1/16W J
C707 NEAF1CM-106X E CAPACITOR 10uF 16V M R357 NRSAB3J-221X MG RESISTOR 220Q 1116W J
C708 NEAF1CM-106X E CAPACITOR 10uF 16V M R358 NRSA63J-221X MG RESISTOR 220Q 1116W J
C709 NEAF0JM-476X E CAPACITOR 47uF 6.3V M R359 NRSAB3J-221X MG RESISTOR 220Q 1116W J
C712 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R360 NRSAB3J-221X MG RESISTOR 220Q 1116W J
C713 NEAF1CM-106X E CAPACITOR 10uF 16V M R362 NRSAB3J-331X MG RESISTOR 330Q 1/16W J
C714 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R367 NRSAB3J-221X MG RESISTOR 220Q 1116W J
C715 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R372 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
C716 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R373 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
C717 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R374 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C718 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R375 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
C722 NCF31EZ-104X C CAPACITOR 0.1uF 25V Z R376 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J

R377 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R101 NRSAB3J-101X MG RESISTOR 100Q 1/16W J R378 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R102 NRSA63J-101X MG RESISTOR 100Q 1/16W J R383 NRSA63J-101X MG RESISTOR 100Q 1/16W J
R103 NRSAB3J-562X MG RESISTOR 5.6kQ 1/16W J R384 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R104 NRSAB3J-432X MG RESISTOR 4.3kQ 1/116W J R385 NRSAB3J-102X MG RESISTOR 1kQ 1/16W J
R105 NRS181J-180X MG RESISTOR 18Q 1/8W J R392 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R106 NRSA63J-2R2X MG RESISTOR 2.2Q 1116W J R393 NRSAB3J-0R0X MG RESISTOR 0Q 1/16W J
R107 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R394 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R108 NRSAB3J-471X MG RESISTOR 470Q 1/16W J R452 NRSAB3J-222X MG RESISTOR 2.2kQ 1/116W J
R109 NRSAB3J-331X MG RESISTOR 330Q 1/16W J R453 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R111 NRSA63J-562X MG RESISTOR 5.6kQ 1/16W J R454 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R112 NRSAB3J-432X MG RESISTOR 4.3kQ 1/116W J R455 NRSAB3J-103X MG RESISTOR 10kQ 1/16W J
R113 NRS181J-180X MG RESISTOR 18Q 1/8W J R456 NRSA63J-103X MG RESISTOR 10kQ 1/16W J
R114 NRSA63J-2R2X MG RESISTOR 2.2Q 1116W J R457 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R115 NRSA63J-102X MG RESISTOR 1kQ 1/16W J R458 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R116 NRSAB3J-471X MG RESISTOR 470Q 1/16W J R461 NRSA63J-101X MG RESISTOR 100Q 1/16W J

3-20



A\ SymbolNo.  Part No. Part Name Description Local A\ SymbolNo.  Part No. Part Name Description Local
R463 NRSAB3J-101X MG RESISTOR 100Q 1/16W J CN1 QGF1036F1-15 CONNECTOR FFCIFPC (1-15)
R464 NRSAB3J-101X MG RESISTOR 100Q 1/16W J CN2 QGB2024K1-07S CONNECTOR B-B (1-7)
R465 NRSA63J-102X MG RESISTOR 1kQ 1/16W J CN3 QGB2024J1-07S CONNECTOR B-B (1-7)
R535 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J SW1 QSW0844-001 PUSH SWITCH
R541 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J Sw2 QSW0844-001 PUSH SWITCH
R701 NRSA63J-2R2X MG RESISTOR 2.2Q 1116W J SW3 QSW0844-001 PUSH SWITCH
R703 NRSA63J-471X MG RESISTOR 470Q 1/16W J Sw4 QSW0844-001 PUSH SWITCH
R704 NRSA63J-471X MG RESISTOR 470Q 1/16W J SW5 QSW0844-001 PUSH SWITCH
R705 NRSAB3J-471X MG RESISTOR 470Q 1/16W J SWeé QSW0854-002 PUSH SW
R706 NRSA63J-471X MG RESISTOR 470Q 1/16W J SW8 QSW0923-001 DETECT SWITCH
R707 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R708 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
R714 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R715 NRSAB3J-101X MG RESISTOR 100Q 1/16W J
R716 NRSA63J-471X MG RESISTOR 470Q 1/16W J
R717 NRSAB3J-473X MG RESISTOR 47kQ 1/16W J
R719 NRSA63J-5R1X MG RESISTOR 51Q1/16W J
R720 NRSA63J-473X MG RESISTOR 47kQ 1/16W J
R722 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J
R731 NRSA63J-102X MG RESISTOR 1kQ 1/16W J
R732 NRSAB3J-471X MG RESISTOR 470Q 1/16W J
CN101 QGF0523F1-25W CONNECTOR FFCIFPC (1-25)

CN201 QGF1016F2-08W CONNECTOR FFCIFPC (1-8)

CN451 QGF1016F2-15W CONNECTOR FFCIFPC (1-15)

CN452  QGA2001F2-02X CONNECTOR W-B (1-2)

CN453  QGA2001F2-03X CONNECTOR W-B (1-3)

CN701 QGF1016F2-28W CONNECTOR FFCIFPC (1-28)

CN702  QGF1016F2-10W CONNECTOR FFCIFPC (1-10)

CN703  QGF1016F2-08W CONNECTOR FFCIFPC (1-8)

K351 NQR0502-001X FERRITE BEADS

K352 NQR0502-001X FERRITE BEADS

K454 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K455 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K456 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K501 NQR0502-001X FERRITE BEADS

K710 NQR0022-002X FERRITE BEADS

K732 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K733 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K734 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K735 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K736 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K737 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K738 NQR0022-005X FERRITE BEADS

K741 NQR0022-002X FERRITE BEADS

K744 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K748 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K749 NRSA63J-0R0X MG RESISTOR 0Q 1/16W J

K750 NQR0022-002X FERRITE BEADS

K752 NQR0022-002X FERRITE BEADS

K754 NQR0022-002X FERRITE BEADS

K756 NQR0022-002X FERRITE BEADS

K758 NQR0022-002X FERRITE BEADS

TH301 NAD0025-103X N THERMISTOR 10kQ

X301 NAX0741-001X CRYSTAL

X451 NAX0248-001X C OSCILLATOR 8.000MHz
Loading board

Block No. [0][6]

A\SymbolNo.  Part No. Part Name Description Local
IC1 LB1641 IC
IC2 LB1641 IC
D1 MTZJ6.2A-T2 Z DIODE
C1 QEKC1AM-107Z E CAPACITOR 100uF 10V M
C2 QCBB1HK-104Y C CAPACITOR 0.1uF 50V K
C3 QFLC1HJ-103Z M CAPACITOR 0.01uF 50V J
C5 QFLC1HJ-103Z M CAPACITOR 0.01uF 50V J
C6 QCBB1HK-104Y C CAPACITOR 0.1uF 50V K
C7 QCBB1HK-104Y C CAPACITOR 0.1uF 50V K

3-21



Packing materials and accessories parts list

Block No.

No additional / supplemental order of WARRANTY CARDs are available

A1,A3 AL
A5.AB.AT.
AB.A9,

A12,A13

3-22



Packing and Accessories

Block No. [M][3][M][M]

A Symbol No. Part No. Part Name Description Local
A1 GVT0150-001C INSTRUC.BOOK ENG
A2 RM-STHC8J REMOTE CON.
A A3 QMPE180-183-JN POWER CORD(US/CA) 1.83m BLACK
Ad e BATTERY (x2)
A5 BT-51034-2 REGISTRATION CARD J
A6 YU20333 SAFETY INST.
A7 QAMO0216-001 SIGNAL CORD
A8 QAL0014-001 AM LOOP ANT
A9 QAL0457-001 ANT.WIRE
A10 CL0020-001 COMPUTER LABEL
A11 QAM0588-001 DIN CABLE
A12 GVT0150-002B INSTRUC.BOOK FRE C
A13 e WARRANTY CARD BT-52006-2 C
A15 AB080073-01 SPEAKER BOX FRONT RIGHT
A16 AB080073-02 SPEAKER BOX FRONT LEFT
A17 AB080074-01 SPEAKER BOX CENTER
A18 AB080072-01 SPEAKER BOX SURROUND RIGHT
A19 AB080072-02 SPEAKER BOX SURROUND LEFT
P 1 GV20373-001A CARTON BOX
P2 GV30654-001A CARTON SPACER (x2)
P3 QPC05006515P POLY BAG 50cm x 65cm
P 4 GV20317-001A CUSHION(FRONT)
P 5 GV20318-001A CUSHION(REAR)
P 6 GV30767-004A CARTON ASSY
P7 GV30779-001A CARTON SPACER
P8 QPA02503505P POLY BAG 25cm x 35cm
P9 GV30652-003A ACCESSORY BOX
P10 LV34907-001A POLY BAG
P11 LV21990-001A CUSHION(TOP)
P12 LV21990-002A CUSHION(BOTTOM)
P13 8500051881 MIRROR MAT
P14 8500052241 POLY BAG (x5)
P15 8500051961 POLY BAG (x3)
P16 8500043421 POLY BAG (x2)
P17 LV11086-001A TOP CUSHION
P18 LV11086-002A BOTTOM CUSHION

3-23



	mb380.pdf
	SECTION 1 PRECAUTION
	SECTION 2 SPECIFIC SERVICE INSTRUCTIONS
	SECTION 3 DISASSEMBLY
	SECTION 4 ADJUSTMENT
	SECTION 5 TROUBLESHOOTING

	pmb380sch.pdf
	Topcover
	Block diagram
	Standard schematic diagrams
	Printed circuit boards
	Backcover

	mb380par.pdf
	Cover
	Exploded view of general assembly and parts list (Block No.M1)
	General Assembly

	Speaker assembly and parts list(Subwoofer) (Block No.M2)
	Speaker(Subwoofer)

	DVD mechanism assembly and parts list (Block No.MJ)
	DVD mechanism

	DVD changer mechanism assembly and parts list (Block No.MK)
	DVD changer mechanism

	Electrical parts list (Block No.01~06)
	Main board
	Front board
	Audio board
	Mother board
	DVD servo board
	Loading board

	Packing materials and accessories parts list (Block No.M3)
	Packing and Accessories



